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1 '6l.pp' - ereingr Gle nebaSlair ulgup o Etu-
r5lor6oorLb p19c.

(A) 6lupg + e1

(B) 6lu + $($) + p
(C) 6lu+$+p+.gr
(D) 6L+$(6) +6+er

ar9l@ulu Clenf eeoen& sain$ r-91 rq6a6rl tb :

6,lppg1b GungrLb cfippcb
Gpfigrnpnri onu@.

(A) enpGo, @LboroqLb
(B) o.lnElpGo, rDpppgtb

(C) r'r.pGeu, oorer9lgtrb

(D) sn$pGa;, $einoroqLb

Cle$pnoanT --r @&CleneiraSlein e iflu.r neur

qoroi&6 ar5l$learanp GpQbGlp@rieqrb :

(A) r'r.gGunpeb + $orr6lseil
(B) r+gGunpeb + q$$L-e;ir

(C) rrgGunpeir + painGlorn$gr $fuucir
(D) r.rEGunpeir + greinafleinp Glodr

6liflscir

GDrIaitu@ 6lLourLiraoro ereimp Gleneb e-ffiil$gl-
6lrgl ur nSJ ? eiflurnor o9lorroruiri snains.

(A) 19rf ainu Oo.rel Guneb goTainu rnp
Cltoru6oro

(B) (gfai.nurnpgl Gunei: grfainu06lp
Glo u'r Lb ao Lo

(C) gcrlan Clpnoru Clpn@&su CluELb

6l ou.r Lban to

(D) er$li6 Genebono +qanouru GlugLb

ClLo u.:6an o

2

.3

4
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PART. A
5 Clunrn8srs :

94eoe oeh

(et) Gpn Gpn porq

(+) 6l-r Slarq Gpn

(6) 6t-r Gpn Gpn

( r+) Grnrt r6'lann rfilenn

sunriun@

(1) qaflronrue nu.r

(2) aLo6lanru e afl

(3) Gponrueafl

(a) e ger9lenrasnu.r

(5) Gponrirsnu.r

(A)

(B)

(c)
(D)

(et) (+)(6) (m)

(3) (1) (4) (s)

(4) (2) (1) (3)

(3) (4) (2) (1)

(3) (4) (1) (2\

6

EB&eainL- Glgnut erpananri gflidlp5t ?

61 u n+6gdlpg Cla.r u9leb.

(A) arqgornru$ Glpnuri

(B) ei9lorarrLorirmr& 6lsnr-ri

(c) a9laflg Glpnuf

(D) 6luu:617*eg Clpnui

7

3

Glenf eoren e 119,Er gu@pdl 61rn1b6lpnr--
qn66pei-r :

6ur6Dg @oratriqg prflprfr $ugrefur@
pafl$p uainunL-qei:

(A) ornorp $loru61g uaim-.rnLr+d pL6lpt
poofl$p @L-glain@

(B) o.rnaop $aneu69 @tW g6f,vpnr'r.lei)

$ugoain@ prdpn

(C) prflpn uaim:m--qeb eunorp $larro64qb
paflgp SL-gr6i,r@

(o) pdlpt g6rfli5p uairn-.rm-Lq-cir gL{goairr@

arnarp @orat&1g.



8 'l-DuJ@ppgl Cleinp @6filur 6!rs6o6ru.l-

L6i,r orn' - S$61pnL-iildl GsnrqL-u Gl*no
eraiLe0$uurg qerrn$5teircr5t ?

(A)'qu9lrtarrflein c-dgprsir GouraSI--@

80tb'

(B)'p-L-eiGLoeb e-u9lnor$gr ed,rg6,rgt
$u:ebGu'

(C) " '60, 6rT' Gorfgaoou9leb 'p, r.-' 6qLb"

(D) 'roeira,9g Sppdpgl e-u5lrfg guuqrb'.

etaoLolelgBqgrfl ur sr6ons6ir oor, "peing,

5gr, 6*p-p grnu-rpebl ergLor@r6leinfl

eteinq6, s,Dgtb p6upng snBc Gor sin
fA6" ereinrnr rsrfilu r9ltil Lb erlrs mn6b 6rar ?

(A) o9ro16& sn@8

(B) qppng,rg

(C) sa5l$6lpneoe

(D) flgunerrnfguuoru

10. " e-arr rtaq 6l u nrirdl eer5leog uorr&1qLb
Gprril oaflcir p6or-un5 er9larrfulgtb unuq
craflpne a.r q eu Lb Clsneiron e0$$lul-
sa9lqi urni ?"

(A) t6u Lr-66Tn'n

$enriiGsnaL rqsoir

unq$u-rnri

unTppnaain

(B)

(c)

(D)
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11. p6upn66r @orororu.r$ Gprtq Glcu.rs :

(A) erdnGlLong!$ - 6la.ruqler--orr--
Gprore Gu8arnri

(B) uainqp - euur$GlpnL-rq

6pnore

(C) uororo$ - glE&g rfare

Clpnore eu$pnri

(D) e-Lboro$ - etarrerrein

Glpnons pbLql

12. +iflu.r nar er9lorrueou$ Gpriaq Gleure :

(1) on.Glun. 8orqnar68o6q* Glecirun

oeing Gu nf glu uGl u6u ri.

(2) sL-L- GLool6o6rr$ pona:a.r rynau upa9l

er:61$gairennri.

(3) unqp omfl, 6l6no omg! u:ein gdlu.r

$ppsofleil uaufl q ffl$pnri.

(e) a'pgr [) Lof96 (3) rlf)

(B) *'!9 (t), (z) elf)

(C) e'pg (3) Lor@Lb erfl

(D) a.'pgt (1) or--@6 elfl

13. or@euqaBtdl elanfl&gu Glunlg$ponan

lgporan6 emrr--fle :

(A) Qieuri etanorurri sua.ui .eto4gdpnri>

Gtoor an G+urGlpnqga onein.

(B) Glsn6bou uueinu@orri eneinGgrnrt

slgLbqGunei.l

Glcn6ba:u uu-reinu@tb 8p.
(C) o&sGen Gu nareuri su..ra.r ri etar [einor

guunlfl u: nLbsainL- $leb.

(D) s6udl@tbaru @ebarnorryB snoflein

$lfur9l@Lbaou
crebarnrj: 5lq9mr(g 61e@6.
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14. Clunrnrisrs

(.at ) ofloremur rq

e6lqgpqrein
Gsri6usr

(+)ugrcgd Clupnp (2)

o9leooru u1g$)

(1) gopafloreu
6l/flrhs Glsnrflrir

Glu u: ri

e6lrsdl Clurirm

Glsnr6lrirGlu u n

(4) or9l1g$ Clupnp
Glcnr.6lrhGluuri

\

(6) G"G, e0 (3) rLosefleneu6

Clsnr-6lrhCluu ri

(") arain, snor6,

SuLb, uno
e-orft$pnoeu
6Ui'l66)15l

(5) GlpnglfGluu:n

(et) (+)(6) (")
(A) (2) (3) (1) (s)

(B) (4) (2) (3) (1)

(c) (3) (s) (4) (2)

(D) (2) (4) (s) (1)

15. geirornp Eieeir prglo:ne a.rqgLb

(A) s6Slu u n

(B) euqg8uun

(C) Gl ar anr u n

(D) .%6lrfluuun
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(D) pararr orqgororLo$l

P.T.O.

16. 6lunrm&srs:

(et) r9lenpun
peinGlong!

(1) ogroryd
en@61

5

(+).9lp,t Gpnq6 (2) qppn@rrgl

sLb Gmnu-r

Gu neir

($t) C+cneu$gu (3) etspngrrg
uuGan r+peir

(n') peingr6 $gi6 (4) oa5lgGlpnore

€urpgttil
(s) ppdlorarr

(s) (+)(0) (")

(A) (3) (2) (s) (4)

(B) (1) (3) (4) (2)

(c) (5) (4) (2) (1)

(D) (2) (s) (3) (4)

77. e,t 0.pdp15 eulyuarrflein 6u(g6D{56Dru

up$) 6l+u:qLb Clun19u@ orqgrorns6
a'gLb arqgororLopu9leir Cluu..rri u:ngt ?

(A) $tr- oullgoreno$l

(B) ana; euqgeuaoop

(C) uneb ouqgororo$l

unur9ain @6De - u ngt ?



18. sflurn6r *.po,pp Gpn$Gp@rieeqtb :

(1) 'fi,t,p eufl u:nd 6[5pgt' ;tdtr1
um mnannrh mru unt-eunu9eb snsrb
ereinm Clsneb 6l rLbGl u mrdl msr-

(2) 6ouu$snry$pd onper9l grqur
u$ Glornlgarore quebsofl a-r lgu&
o".$5t creingr +Lg1tb qgfluGlr-u-
uO6tpgl

(A) e,$E (1) or--$tLb eiil, (2) -arg *'$g
aB6t mt

(B) &'pE (1) o[E6 (2) -6 elil

(C) e'pg (1) ro$gLb (z) -,b p-Er

(D) &'pp (2) or-@Lb +rfl, (t) -eug arfEr
56)lmt

19. unouarGTg Clu6qb6$6r6Tnlileir safl&+ng
( Clpng$l - t ) Glpn1gu r9l erSl gggr 6CU GarE
pareuu L9leu e-6iT6n ur[-6r)seh er5] ?

(A) uno6lu6Glon$5l, glpn8lfluLb

(B) safl}eng, eremrsalau erainugt

(C) osqlg ar@8, ueiroflu upororseir

(o) pr6l$$pnur arnBgigr, gpgflGprrn
unain@Lb

20. 'etrqeeh 6G,l srOql*' - urnrt, urnrflr-ril
*'16l usr ?

(A) ergLbup ranye nqrt erqurf&1q
rnebarnlfl rLir s"'r6l ursr.

(B) etrqurnftB(g, peboni etgLbup
lenqsnTrflr-6 &'flug.

(C) @enrirGoneurqeeh 8$poro6 en$p-
eurnlflulb e.dlugl.

(D) S$poro& en$penni $lanrirGaneurq-
cofluLb &.dlugl
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21. 'on' - creiirp Gle nd.laSldn $g Glungeir p19e

(A) ono16, srLbon

(B) e16uon, g

(C) 6lurflu:gl, sr9lorirqg

(D) 6lflu:9, floLb

22 6rr LLr[ Glong!, G]sn*6De Clong!,
r-9lpGlLong! Glenfeeir $166lupnp
Glpnr-fl aoord aainrfls.

(A) ereinGlannr- r9lfain@ aueouurn creinEl

6lu u: rt e nGoglo urq6e nain.

o6l @garpd;g elr$p 19&e nain

(B) ereirr pmruein e rJ oo u u-rneingl 6l uu..rrt

sa-lgtrnuqd uqlJlpnein. eff @gD6npri{o
au$$166e nein

(c) erein painuein &u6Duun creingt 6
G1u u:19eiruu..reu ein eebgirlilu9leb uq&-
Seingrnein. efl@garp615 o$geirornein.

(D) erein painuein &u6ouu n oeingt Lb

61uurqgarL-ueuain e nGod3o urqB-
dleinp nein. aSer.lBO or$51 6iT6rTn6in.

23. "Guno& Cleu:peil" uainq cr&sorar u9lein

guuLb ?

(A) qa5l gur--r-b

(B) Clunu:&cneil 1g$errry ql-r--6

(C) puunt_uLb

(D) sqe nuuLb

6



25

24. Glgu:sn$pein uanL-uqsqD6ir poryuuL--
ionor uorrruq crgl ?

(A) efEOdO ryg Gurt

(B) 1q6LSr-6

(C) gqg rSIq GenE

(O) @eirgtLb gqg Gluainmfleir earp

"ciflea: oainemfl oin eu npri;erreoru: ".....
61. yngpnlnu.rerrEt619 godr 6rgpp
GlpnL-rirdu: uoor--rl u nofl u:nri ?

(A) un. 6leu:ur9lJeneLb

(B) $ro6sfl

(C) g. ergdlflenrfl

(D) G*n. prioeir

26.' r5lor p u.l n peinGlong5l' creing 6u nurdD loolur&

*'gLb grei erg ?

(A) SCO,,t<gpoi'

rB) m rh 16lan mr

(C) ArEl(5DI&rrg

(D) Llp.Dng[01

27. Gl u ng$pr6l ebo n pal,p6, eainufle.

(A) Speenp$ - @afluqd
Glpnqguq srfluqtb

(B) pno.ra: - q$l'!

ornriuqssh

(C) lggLbq$an6 - dlqenu:6

(D) ,-l5l6rb - p-etrerrotu

GAT 2023 / A
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28. ed;er9lq6, Gl+ebeu916 6lupp Gluai'naeir

o5l<Opgr,b C1+u:eupneB e6uri
6flur5ll-@ehennrt.

(A) ID(D.Dgtrb

(B) r'r=areqLb

(c) +Dpgttb

(D) eSrglb

2s. $lgppauflauqon gflur5l@6 g6Glugrir-
snul9lur olaluqgo6np urngJ ?

(A) 6louu$lsn7Lb, omflGLooolat, d6us-

8$pnLoarfl , ar orenur nu$, lgmrL-eu -

Gcfl

(B) Solefl$pnLoarfl, Cleuuu$eryb, oofl-
Gusora.r, er.lorenu-r nu$1, lgainr--a.tGodl

(C) dlaruu$lsnyLb, Sausfl$pnLoerfl, omfl-
Gos6r6u, lgar, L-euGe6, o:anonu: nu$

(D) 6louu$le nqLb, o.ronoru:nup, Loarfl-

Gosora->, qgmruarGedl, Sarsdl$pn-
Looofl

30. (gdf d - Clprq6b rDrppLb e-anf$g,
Gsnqr--u Glen$etg6lgu Gl u n1g$ponan

Clungoror$ Gprie.

orafl surdfl

(A)

(B)

(c)

(D)

areS[isei>

StTmmt

snfimr

Lo6lp+Cl

Srmrnt

unridlnb

s6q
u nri6l n Lb



PART
31. oang:61 or q6q 6D L- ur SFu greu&uog

Cle nair@ shar $ arri;e eu u rglem Lo npeit

(A)

(B)

(c)

(D)

sP3

d.P3

sP3d2

d2rP3

32. er$p $aruporar$ Glpn6$ paflod 4s

qrt8L-L-noSleil pfrbu gofuungl f
(A) Co

(B) Fe

(c) Ni

(D) Cu

33. Glennr--qarLb e-Garne $$leb goflrfleiir
sr9loreneoo GpnSger9l&e u u: einu @ r-b

gofl$gre ofld'r lgorp$puue +ppd,,
[r-9lornurgen$$lein Gporor uu@,.b 19-p,op
uu+ ex$lri6lsu ain 1.3 x 10is/orqornrql

(A) 8.6 x 1012 erg (crri&oiu )

(B) 8.6 x 1010 erri&oiu

(C) 8.6 x 10 - 10 eriBaiu

(D) 8.6 x 10 - ra arft&aiu

34. @r--tb to$gr-b pore Geuo$pei; $loreuu:Sp
peinoro .senq goorgrGu: 10-10 rf opgrrjl
5.27 x7024 16/eflornrq Glsnain@ohsn
glooffdn porgr (h:6.525rr0-:a $/
a9lornrq)

(A) 100 g

(B) 2N I
(c) 150 g

(D) 2s0 g

GAT 2023 / A

-B
31. SFu molecu k, consist of Octahedran Goometry

tlue to thc ,_ - h'po of h'r,britlisation.

32. Which transition element does not completely
fill the electron in 4s sub shell ?

(A) co
(B) Fe

(c) Ni

(D) Cu

33. The minimum energy of photon must possess

in order to produce photo electric effect with
platinum metal is : (Threshold frequency for
Pt is 1.3 x 1015 sec-l)

(A)

(B)

(c)

(D)

(A)

(B)

(c)

(D)

sP3

d"P3

"P3d2
d"P3

8.6 x 1012 erg

8.6 x 1010 erg

8.6 x 10 - 10 erg

8.6 x 10 - la erg

34. The uncertainty in position and Velocity of a
particle are 10- 10 m and 5.27 x1.Ga m sec-1
respectively. Calculate mass of the particle
h: 5.625 x 10 - y 

J sec.

(A)

(B)

(c)

(D)

100 g

200 g

150 g

bog

8



35. Gnf poflLorfucdfloin ergl qgLb :

(A) Li to Cs.sr$siflidlpgl

(B) Li to Cs (56Dpdpgt

(C) Li to Cs cLDLons e-eirorgt

(D) Li to Rb er$alflpgr r-9ldnq (g6r,pdlpgl

37. pH4+ -6irr gt6DtDUq :

(A) r-9l7rfl@ er.rqouLb

(B) gr&GsnarrLb

(C) pneingrdl

(D) Gpi6Gen@

38. 8$ri;eainu a;n$polan@ eru,raflaoflo ogt
orL-u.r nsn$p peinan Lo qan r--u:gt ?

(A) La3 +

(B) Pm3+

(C) Pr3 +

(D) Sm3+

39. gllguLSl rq&anp cri.6leb gGryrrfl u:$$letr

epe,9pLb ereinan ?

(A) -17.5o/o

(B) 3.8o/"

(c) 7.s-2%

(D) 7oA

GAT 2023 / A P.T.O.

35. Atomic radii of the alkali metals.

(A) lncreases from Li to Cs

(B) Decreases from Li to Cs

(C) Equal from Li to Cs

(D) Increases from Li to Rb and then
decreases

36. The increasing order of Lewis acidity among

the following Boron halides is :

(A) BCl, > BF, > BBr,

(B) BF, > BCl. > BBr,

(C) BBr, > BCl, > BF,

(D) BCl, > BBr, > BF,

37. The Geometry of Pgn+ is :

(A) Pyramidal shape

(B) Triangle

(C) Tetrahedral

(D) Linear

38. Which among the following L^anthanide ion
is diamagnetic ?

(A) La3 +

(B) Pm3 +

(C) Pr3 +

(D) Sm3 +

39. What is the % of Chromium in stainless

steel ?

(A) 11.s%

(B) 3.8%

(c) 7.5-2oA

(D) loA

I

36. Epe ainL- Gunqnein gDn6DoO56lfl6itr

glrugl utu er rfl at$ peinorou9l ein ggla: fl ore :

(A) BCl, > BF, > BBr,

(B) BF. > BCl, > BBr,

(C) BBr. > BCl, > BF3

(D) BC13 > BBr3 > BF3



40 La -eirr erar6L-ynein etorLouq ergJ ?

(A) 4f15d16s2

(B) 4fo5d16s2

(C) 4f25d1o6sr

(D) 4f25d26s1

41. eluraoflu l9laronueou uqgeu n6s
$orerrqLb poflLo rir e ofl ein peinarLo

crei.reung 6Oppni, Geuain@6 ?

(A) Gprtrflainpeinoro oSELb er$lrt'16<ir

peinoo Lo

(B) cr$lrtL6leinpeinoro ofgLb er$rtrfl<iir
peinoro

(C) GprirSlainpeinaoLo oSEb Gprtrflein
petroro

(D) era;6uq nain Ggnrqanu: Frgiuor6t
Lo$gLb oa;6r--pnein Ggnrqoru: Clup
aueia:anar

42, r-9leinar:gLb goeurhc"Esafl ei-r

r-9lormruq Selatnp et uafl
+(grb.

(A) NH4+

(B) BFr-

(c) PCl6-

+(D) NOz

n:p 6u e5 u

43. 4ryu:arfl Geriorfuaoir :

(A) ueir$oro r.r'riu q e0oooq Lb 6lu flu.r

u rqe rirsanorq Lb Gl6n6trr, gr

(B) $loo+aeir Glanarrr- pofl U)6u6&.L0ts6iT

(C) grt$aoe 6lurflu gro&a.'Eeeh

(D) grt$lone gafl goeuia'gsoir

GAT 2023 / A 10

40. Which is the electronic configuration of La ?

(A) 4fr5d16s2

(B) 4fo5d16s2

(C) 46254106rr

(D) 4f25d26sl

41. An Ionic bond is formed between two
elements of the following nature.

(A) Electropositiveand Electronegative

(B) ElectronegativeandElectronegative

(C) ElectropositiveandElectropositive

(D) Electron pair donor and Electron pair
acceptor.

42. Among the following molecules, the one that
doe6 not contain a coordinate covalent bond

is

(A)

(B)

(c)

(D)

43. The

(A)

(B)

(c)

(D)

NHI*

BFI-

PCl6-

+
Noz

Ionic compounds are :

Omni directional attractive forces and

giant molecules

Directional and discrete molecules

Unidirectional and giant molecules

Unidirectional and discrete molecules



44 Gmnri6lononu Cl u nmBsr LonrhmrisrB

lgeiror ng Lb oiu ryGrynrqril e ltlein eLoeinun@

(A) Ary = ih(ry.dr)

(B) Ilry: tyd-t

(c)

(D)

45. qGqafl u.l$$ rin gg11 6rain 92, €I6rpl 6r@r-
238.029. e1$kil uehen pgL-rJn<inaofldn (n)

o$uq :

(A) 148

(B) 1.46

(c) 1s0

(D) 140

46. angpr-ygeir goar6a'flor 6*p
3.4x70-27 kg. srg 1700 L6/ 6fl6nn+ 6r6inp

Garsridla.l Clsu.l6burAdlmsr. -srs6irr
q-u9lyn6afl-ein eloro $orrj: crei.rororq ?

(A) 0.115 x 10-e m

(B) 0.115 x 10-8 m

(C) 0.115 x 10 - 10 m

(D) 0.115 x 10-7 m

l tu
at\,*

riv: il'$

GAT 2023 / A 11 P.T.O.

44. Schrodinger equahon for Time dependence

(A) fi,y= t1,y.ary

(c)

(D)

45. Uranium has atomic number 92 and atomic

weight 2j8.029. The number of neuhons (n)

is:

(A) 148

(B) 't 46

(c) 1s0

(D) 140

46. Mass of hydrogen molecule is 3.4 x 10-27 kg.

The molecule moves at a speed of
1700 m/ sec. What is its de Broglie
wavelength ?

(A) 0.115 x tO-e m

(B) 0.115 x 10-8 m

(C) 0.115 x 10 - 10 m

(D) 0.115x10-7 m

Hqr:(B)

Hv.:

Hv: it'

vdr

tu
at

tu
at

15 _.



47. goaruGlu n1goror or e$lar Lo u-r neur en$p
Ll6up6d eoorrilqb Gun5t er$el 619,Dgt
Glor ofl u u @ 6 61 rf ebseir r9l rfl ors .s1 or r-or.rg1

ereinugt :

(A) orame6irrGlui6 s6sreu6

(B) snLbr--ain sfleoeneq

(C) gpriGunn@ 6sn6iT6Ds

(D) Soeir eflanorq

48. engDL-qg6ir $1gr r-o nana.r u9leir er$p or.r itle eir

eiur66fl +15b +ppan5u soo6dlr-
u u:einu@$pu u@61eingor ?

(A) oroGoeiir arlfleoes6ir

(B) u uain@ a.rlfleoes6ir

(C) r9lqnriG)sr aurflorss6ir

(D) unarori eurflorss6iT

49. goirafl sein g6r6SGI 8$sainuor$guein
Clsnrf ueorursr :

(B) 6rodL[r6irr Bnuur"b
$ aran$ peir 6r6DB L[n6in

LDMTNItD

(C) er u:aiflu: n&196 peinorLo r-Dpg6

eruoflun&196 +ppei;

(D) er u: aflu: nB1g Lb p6itr6D Lo LDpgb
era;ti r-rJnein pinL-L-Lb

GAT 2023 / A 12

47. Spectral lines are split into components when

the source of emitting lines are placed :.n

skong magnetic field. This is :

(A) Heisenbergsprinciple

(B) Compton effect

(C) Rutherford theory

(D) Zeeman effect

48. In hydrogen spectrum which series of lines

are used to calculate ionisation energy ?

(A) Lyman series

(B) P fund series

(C) Brackett series

(D) Balmer series

49. Mulliken's Scale is related to :

(A) Formation of Ionic bonds.

(B) Electron affinity and Valency electron.

(C) Ionisation Potential and Ionisation
energy

(D) Ionisation Potential and Electron
affinity

(A) sr uedl r9leoomuq zlgou npei.,



50. r-9leinorqgororopEeir eGr AO paflpp
gorp crar6r--Tnorar Glunein@ehor or ou.r

9@r er9laneur Clufgairor qgoalBa.g :

(A) CHa

(B) Hzo

(c) NHs

(D) XeF2

51. @oou$l aral gafl Lo riresh $lp gror L-u:p ns

@1grio snryerrLb :

(A) s-cratri L-7 neiiroeir

(B) d-cro6L-Tneinseir

(C) p6ro;6Ltrn6i,r56iT

(D) Gloramruq erodulneineeir

52. Lu3+ gtulafl qp e$pn s$riearen elein

e-fl@car$<iron ?

(A) GD113)6DrDrun6 6f6l-9lu: -f -a'G

(B) ulgpu:eno.1 flr6r9u -f -o.6

(C) un$lu:enai 6lrrLbr9iu-f -*'Gl

(D) f-*.@Sebanar

53. NH2OH goar&a'fleir e-6h6n N -6i,I

qrfren9gGorfrp porar :

(A) +1

(B) +2

(c) -1
(D) -2

13 P.T.O.

66769
50, Only one lone pair of electron containing

central atom in the following molecule is :

(A)

(B)

(c)

(D)

CHa

Hzo

NHa

XeF,

51. Transition elements are coloured due to the

presence of :

(A) s-el,ectrons

(B) d-eleckons

(C) pelectrons

(D) paircd electsons

52. Why Lu3+ ion is not absorbed in the uv-
visible region ?

(A) full filled - f- shell

(B) partially filled - f- shell

(C) Half filled - f - shell

(D) No-f -shell

53. Oxidation state of N in NH2OH molecule is :

(A) +1

(B) +2

(c) -1
(D) -2

GAT 2023 / A



54. Geu-lf orc
6)pr--[E6)6r
6porpu9lefu u
g4&61 :

(A) Fe-Cu

(B) Fe-Mb

(C) Ni-Cu

(D) Ni-Pt

(A)

(B)

(c)

(D)

gDalpr9l6 euafloarruar
filaoarfilmrAsr6 Gamuri

u:einu@$puu@Lb eflcnar

55. 8$ri;eainr e6lorotoru.ru grt$$ 6crns.

HONHTCI + X--+NaCl + CHrOH + NH2OH

(A) X=CH:OLi

(B) X:CHaOAl

(C) X=CHsoMg

(D) X:CHsONa

56. u neiu Sein arnq snsprein eeu.6g arlllqLb
Gunsr qeos z1ryer nlgLb

u(ruq 6u6D6nul

oq$+eh 6u6)6TTru

a.r nriGl L-&ciu 6rl6D6nu

$lorql8oruq or6)6nu

57. $enr$leoo paflori.reaflein e-19g$loro
o[96 61on$i6l-., etg eufleDeu5l6i)

6.6lCOpgr 6u6)lorr6 GleeirgtLbGl unqggt

(A)

(B)

(c)

(D)

erpe flr;Clpgl

O6r,pdlpgt
g6f,pp5l
Clpgr

er$lsiflggl
196r,pdlpgt

rfresrDolrrisr .erdlsrfl&

GAT 2023 i A
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54. Catalyst used in the artificial fixation of
atmospheric Nitrogen by Haber's process is :

55. Complete the following reaction.

HONHTCI + X-+NaCl + CHrOH + NH2OH

(A) X:CH3OLi

(B) X=CHqOAr

(C) X=CHsoMg

(D) X=CH:ONa

56. Phosphine gas catches fire in contact with air
forming smoke

(A) Brown ring

(B) Yellow ring

(C) Vortex ring

(D) Pink ring

57 . Melting and boiling points of transition series

on movins from left to risht of the

period.

(A)

(B)

(c)

(D)

(A)

(B)

(c)

Fe-Cu

Fe'Mb

Ni-Cu

Ni-Pt

Increases

Decreases

Decreases to minimum then increases

(D) Increases to maximum and then
decreases



58. Sprieainr snftueoanu ufflu *.fiEaoflcir
crgt gor mne'nsr ?

(A) er$le eru:aflu:nrilgLb gfgren
(B) et$lo Clonpfloro Lo$pLb 21919

5l-t
(C) d-griur9lL-rnel $lei:aoe.r

(D) dn-Pn @qreoru r-9lorarru ao u
urmornBrsdlmsr

59. Ge, Sn LofELb Pb Sarfflein GonGorn
g6anr@seir

(A) .etdla)

(B) r,r'rfluebq

(C) 6n[

(D) p006r,a)

60. nuuri surnlfluu4leir
urnsu uu:etruOdlpgl.

6,1",51

(A) 8aSl&sein Gonorn&orau@

(B) gaing1eeh uqe orrjalLofg 6la5lten

(C) etGsr
(D) Gs6iu6r6bci

61. qp Geu$gono a:qeude ennor

S( GynLb r9lB ), S( GLo nGann&ofl 6fl{i ) - ugl drl

errflpeb ereinpneirr-9l grorgrGu: -297.5 kJ

ofgrb -300.0 kJ. areinpnebr-91 on$pLb
S(GLonGorn&oflaflB) -+ S(G7nrj:L9l6)

creinup$g r-9leineu 19eu ara.r pg eh 6rgt

ereinuorpri oainr--flo ?

(A) aH= +2.s kJ

(B) AH: -2.s kJ

(c) AH: -3.0 kJ

(D) aH : - 0.2 kJ

p6r6DLDu-.16)r_uJgl.

GAT 2023 / A 15 P.T.O.

58. Which one of the following statement is not
correct for Carbon ?

(A) Highest ionisation energy

(B) High melting and boiling point

(c)

(D)

Lack of d-orbital

Form dn-Prr double bond

59. Monoxides of Ge, Sn and Pb are

in nafure.

(A) Acidic

(B) Amphoteric

(C) Basic

(D) Neutral

50. is used as a filler for making
rubber.

(A) Silicon monoxide

(B) Fine Amorphous Silica

(C) Agate

(D) Kieselguhr

61. The enthalpies of combustion of rhombic

Sulphur and monoclinic Sulphur are

-297.5 kI and - 300.0 kJ respectively. Then

find out the change of enthalpy of :

S(monoclinic) -; S (rhombic) ?

(A)

(B)

(c)

(D)

AH= +2.s kJ

AH= -2.s kl

AH= -3.0 kl

AH= -0.2 kl



62. Cpeugororopg6ir 615t Glu nlgainanLo

enTn uainoru6 Odl{frdlp5 ?

(A) ereinpncfur-91

(B) oL_+crlr +ppd
(C) areinrGrynE

(D) 56r €t6rTa.l

63. 6p"l9G @ebolnroeb 6laruu$eog
Golerralutns on$p $u.rotng creinugl :

(A) @TainurLb 66lp 6louuu

@u:6ea9lueir

(B) g&dlur er9lp 6oruu Su.r6eer9lu:eir

(C) Cppd, 6610 Gleuuu @u.r6sa9lu.reir

(D) EpeingrnLb a9l$ Cla.ruu @u..r&esflu:eb

64 ar nqo6lein rDnpn et(rpp Gononft Glo.ruu

erpqp 6pdn'

(A) Cp. Cv

(B) Cp = Cv

(C) Cp , Cv

(D) Cp:R- Cv

65. L9l6u@e$pein +ppeb €l6n6q :

(A) fiorgreunorg

(B) (g6r,p6un6rgl

(c) UAdlr,b
(D) onfloSl
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62. -Which one of the following is NOT an

extensive quantity ?

(A) Enthalpy

(B) Free energy

(C) Entropy

(D) Volume

63. It is impossible to convert heat into work
without compensation is :

(A) Second Law of Thermodynamics

(B)

(c)

(D)

Zeroeth [aw of Thermodynamics

First [aw of Thermodyna mics

Third Law of Thermodynamics

64. The molar heat capacity of a gas at constant

pressure must be :

(A) CP < Cv

(B) Cp : Cv

(C) Cp , Cv

(D) Cp=R- Cv

65 Energy of the Universe :

(A) Maximum

(B) Minimum

(C) Zero

(D) Constant



66. ga6lu npaSlain GlouuuLonf pLb

oreinr--G rJnr9 q uain e-6h6fi Glpnr-rtq :

JH
(A) IS

T

(B)
AHvap 

= AS
T

vaP _
\'a p

(c)
AHuap : AC

AS

AHrap 
= AA

AS
(D)

67. uafl6e r--rj +gtrisglBsn6dr sntro[rLb crairen?

(A) s119pp6 et$lorfl&gLbGung uafl6
eL-qu9lein elggpana: O6opp6!.

(B) s119ppb et$lerf[ilgLbGung uafl6
er--rauSlein " OO06Do er$erfl$pcil.

(C) elqgppb lgorpq6Gung uafl6
er-qu9eir o Og$lora: 156npp6b.

(D) s119ppib erpelflBg6Gung uafl&
er--rqu5lein e-ggporo onpnoeir

Ooppoil.

peinafl&eoeu: ne $le q4Lb er9lorordsnor

$lugporar:

(A) as=0

(B) AS<o

(c) aG>o

(D) aG<0

6u
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66. The Enthalpy of Vaporization related to
Entropy change :

(.4)

(B)

(c)

(D)

\,4 P

lHruP
T

AHvap

AS

AHrrup 
= AS

T

AH,up 
= AG

AS

SI

:AA

67. What.is the reason for ice skating ?

(A) Melting point of ice decreases with
increase in pressure.

(B) Melting point of ice increases with
increase in pressure.

(C) Melting point of ice decreases with
decrease in pressure.

(D) Melting point of ice remains unaltered
with increase in pressure.

68. The condition for the spontaneity of a

reaction.

(A) as:0

(B) AS<o

(c) aG>0

(D) AG<0



69. 6loluuib to,Dgrb et119ppub Lonpr
poraru9en $loratu: no 6-r,-.1 gtaDLDuq

ereinug Lnid*1= 0.

(A) 6l u siu - gpeb LbGe nei-loiu eLoeinun@

(B) o:neinusnu eoeinun@

(C) 6lueiu-@srb eoeinun@

(D) 6lennu r-9lfl u"r netr -6lenndlu:eiu

e oeinu n@

70. AIB -r er5loanoflanonGl u nlgeir
e$lananu9lein o6lororGor.rs

(A) k= 1l.r o

6t'd.r g
Lo rfla5l

(B) 1= 1 
,r',b(a - r)

t(a - b) a(b- x)

t a-.r

I(c) k
(u - t)2

(B)
dxl\n
-a\la 

- xl
dt

(c)
dr .1

dt 
0 (a - r)"

(D)
dx,,o
-.rta 

- Il
dr

(D) k=

nA -+ er9l an on s6l or err 6l u n qp eir c;,a;'p
erSlanaru5lein er9lonarGor.rs eoeinun@

(A)
dr .)
dt 

d (a - r )-

1

2t

x,//t

I

.l

77
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(D)
dr ,o

dt 
0 ta - .r,

69. For a system of definite composition at
constant Temperature and Pressure is
lnid*1= 0.

(A) Gibbs - Helmholtz equation

(B) Vanthoff equation

(C) Gibbs - Duhum equation

(D) Clapeyron - Clausis equation

70 Rate constant for the reaction of the type
A + B -+ Product is

(A) t= 1r,
t

.l

a- x

I b(a - r)
(B) k

t(a - b) a(b - x)
ln

(c) k= 1

2t (u - ,)2
I I

a

(D) k= %

71. Rate equation for the reaction nA -+ Product

ls

(A)

(B)

(c)

da -')

dt 
0(a- r)-

dr/\n
dt 

d(a-.r,

dr .?

dta(a-.r)"



4cfu qr6leir urgtsnuq *,.pLo$$leirr prus
6f 6[tf

(A)

(B)

(c)

(D)

25

0.1 - 0.2

0.15 - 0.5

6.0 - 20.0

73. Zn2+ + 2i + 7n 6r6irlp e6lerranu9leit

Cl mteinciu r- soeinu rfA

(A) E= Eo + o.oserslosiTfu

- -o 0.05915

2(B)

(c) E= Eo
0.05915

tog [zn2* I

"r#

"#
2

0.05915

a

(D) E: Eo +
3

74. Spdsainr Adqdld, crgt on$rfl rflein

groror ?

(A) pur orgor--ygetr rfleingroran

(B) sGarnLosil rfleingrorar

(C) lgu9leino4ouGTnein rSleingooror

(D) P"3 + 
/Fe2 

+ rSlaingooran

75. 25"C Gloruu$loou9l6b 0.0128N CH3COOH

e orTea5lein Ir:14.4 mhos cm2 eondrlb
opgLb x-:391 mhos cm2/e onor6. Ku

Lo$uoru earr&61@s.

(A) 1.80 x 10 - 5

(B) 1.70 x 10 - s

(C) 1.89 x 10 - 5

(D) 1.80 x 10 -4

19 P.T.O.

72. Gold number of protective colloid of Albumin
is:

(A)

(B)

(c)

(D)

73, For the reaction Znz+ + 2e = Zn, the
Nemst eouation is

(A) E= Eo + o.osersros1,fu1

25

0.1 - 0.2

0.15 - 0.5

6.0 - 20.0

E= Eo
0.05915

0.05915

"E#

"8#

(B) +-
2

(c) E: Eo + oo?1s 
tog [2.,'*1

E: EO +-
3(D)

74. Which one of the following is a Reference

Electrode ?

(A) Standard Hydrogen Electrode

(B) Calomel Electrode

(C) QuinhydroneElecbode

(D) P"3+7!e2+ electrode

73. For 0.0128N CH3COOH solution of 25'C

\r = 14.4 mhos cm2 equivalent and

I - : 391 mhos cm2/equivalent. Calculate Kl

(A)

(B)

(c)

(D)

1.80x10-s

1.70x10-s

1.89x10-5

1.80x10-4
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7 6. s neilor arren8 ra creinugt $ qg6 r-9l enneu nar
uyur-9letr rfgl g&o 9196

(A) Gleu eirofu Lb

(B) pnrflyLb

(c) gt$ppns6

(D) urprJe Lb

77 r-9leinaugLb 6tbp
Ag -+ Ag+ otne
cra,,r-ru Gl+urqLb ?

e-Gors gulafl
grfionSlgGorflp6

(A) F*+

(B) Pbz+

(C) Cu2 +

(D) Au3 +

78. Hg - Zn(C,)lZn2+ (aq)lHg - Zn(Cr)
GLof oainr 16leing:arp Gl"dluq L6ld,r

sog$l<in 6tdn er119$pp6Dp €t6n6r9105.
gpppns eq r.oneire$$ein Clefleq p7u -
u r@oironu rq Sgu r-9rin,

Ct=49 ol Znc/ 1'00 g of Mercury

Cr= 29 of Zinc/100 g of Mercury

(A) 4.8x10-3 V

(B) 8x10-3 V

(C) 8.8x10-3 V

(D) 16.6x10-3 V

GAT 2023 / A 20

76. Galvanising is the process of coating iron
surface with :

(A) tin

(B) copper

(c) zlnc

(D) mercury

77 Which metal ion is used to oxidize
Ag -+ Ag+ ?

(A) Fe2 +

(B) Pb2 +

(C) Cu2 +

(D) Au3 +

78. Calculate the emf of the electrode
concentration cell

Hg - Zn(C r)lznz 
+ 

1a4 I 
Hg - ZnlCr;

If the concentration of Zinc amalgams are

given as,

Cr =49 of Zinc/ 700 g of Mercury

Cz=29 of Zinc/ 700 g of Mercury

(A) 4.8x10-3 V

(B) 8x10-3 V

(C) 8.8x10-3 V

(D) 15.6x10-3 V



79. gopdu+ oglororu9lein oSlananGeus LonflaSl

1.54x10-3 s-1 croflar gp6in etaD[6un[!1

eneu$oop earr&61@e.

(A) 450 Clpnrqeeh

(B) 350 Glpnrjaeir

(C) 2s0 Glpnqseh

(D) 100 Glpnrqecir

80, lnk ro$gLb er$lriLoorgr Clar.ruupanal&qg6

$orr--Gurunor Glon@6suuuL-
ororTur$$leir +rfleq Lo$uq 6r6ir6r ?

/nk

1/r

Ea+_
R

(A)

(B) Ea/
/RT

(c) Ea/
,/R

(D) * E/t<t

81. Ni st u:afleou.t sainr-flq LbGu ngt

o rgio.rns&*.tgu-l elanerral&G+riroLb :

(A) Ni (Dmg)

(B) Ni (Dmg),

(c) Ni (Dmg),

(D) Ni (dMg)

GAT 2023 / A 21 P.T.O.

79. The rate constant for a first order reaction is

1.54x10-3 s-1. Calculate its half-life time.

(A) 4s0 s

(B) 350 s

(C) 250 s

(D) 100 s

80 What is the slope for the given plot of Ink

verses reciprocal temperature ?

/nk

1/r

(A)
Ea+-
R

(B) Ea/
,/RT

(c) Ea//R

(D) * t/o,

81. Complex formed during the detection of Ni

ion.

(A)

(B)

(c)

(D)

Ni (Dmg)

Ni (Dmg)3

Ni (Dmg),

Ni (dMg)



82, Ge nrgu: rb Gluu6n lgGsnnGTn-eou-
aneurGarn qgGTnGrou (III) et oremraq &

G+rto$$ldt goa;&*.g or: nu..r u nL-qaror
eain@ r9q&eeqLb.

(A) Nar[CrClo(CN)r]

(B) Na.[CrCla(CN)2]

(C) Na[CrrCln(CN)r]

(D) Nar[Cr.Cln(CN)r]

83. EBe ngr6 et6o6sr6qlGsftLorb 6tbp
onfflu:gorp lgfl+;Adnpgr ?

[Co(HrO)rBr] SO, opgri [Co(HrO)rSOn]Br

(A) +e1u:afl u:npeb ronfSlu-rLb

(B) fit urb,p onpflu:Lb

(C) $ormruq onflflu:Lb

(D) @oro OgrLb @eiaro

84 19 eineu 19er.r ara.r f fl eI gofl - uerrrig5r-@ Lb

e orTeeb crgl ?

(A) dlebeut anpuGrl s6o[s6i)

(B) g6ener5lt +ryrilsu& eorg+ei:

(C) G+nrqu-r6 orgryurJnrior*@ earTeeir

(D) snuui s6iJGuL e eoq+oir

85. drEdleilr sur6D6TO sior6trr6r1 G+rto$$lei;
p@uq 6,i<gtb snTarflu:re c;-g)
uu:einu@6lpg ?

(A) e6bGun6fl6 er rilo& eenqeei.r

(B) unftoreirrqaogO@ - etClr__r1&

et r6la;6 e orTcei.r

(C) unrionebrqorgor@ - orpurflB alu6lord
e aoy*ei-r

(D) u nrt Lo neb rqorgp @ - gBena5l6
et rilatd e or7+eir
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(D) Formaldehyde-oxalic acid solution

(A)

(B)

(c)

(D)

NarICrCla(CN)2]

Na3[CrCln(CN)r]

NaICrrCln(CN)r]

NarICrrCln(CN)21

83. The following complexes shows which
lsomcrlsm

[Co(HrO)rBr]SO, and [Co(HrO)uSOo]Br

(A) Ionisationisomerism

(B) Hydrated isomerism

(C) Linkage isomerism

(D) None of the above

E4. Which is the light - sensitive solution among
the following ?

(A) Silver Nitrate Solution

(B) Oxalic Acid Solution

(C) Sodium Hydroxide Solution

(D) Copper Sulphate Solution

85. What is the demasking reagent used for
cyanide complex of zinc ?

(A)

(B)

Sulphonic acid solution

Formaldehyde-acetic acid solution

(C) Formaldehyde-Nitricacidsolution

82. Find the molecular formula of sodium tetra

chloro-di-cyano chromate (III) complex.



86. [Fe(H2O)j2 
+ eru.rafl GeiLo$$lein eurq6! tb

ereIl|crr ?

pneingrdl

eraingldl

egqporLb

gc6Gsnmr $ruanu r-9lrr5@

87. [Co(NHr)rClr]Cl -6fld Ge nu neirrqein

gopeinoro $orerr$Priir :

(A) 1

(B) 3

(c) 6

(D) 7

88. Oeinorgrb go6sro.l* GsirDrfusaflal EAN

efl$oru: r-9leinufpnporeu og ?

(A) [Fe(Co)5]

(B) tv(co)61

(c) [G(co).]

(D) [N(co)4]

89. ur+6 r-.{ a; Glsnoheosurq anrou-j e-G6Dns

etuaifl osgd r+afleq96g $eor-Gu.r
unon sar riridl :

(A)

(B)

(c)

(D)

t (A)

(B)

(c)

(D)

ee Glorerru q geinarroqorL-u,L .a1u:afl

ee l9leoarru q

et u:afl r5lorerru q

el urafl peinororq6nr.-tu ee r9leomrt q
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86. What is the geometry of the [Fe(HrO)u]2+ ion

complex ?

(A) Tetrahedral

(B) Octahedral

(C) Square planar

(D) Trigonal bipyramidal

87. In [Co(NHr)nCl2]Cl, the prirnary valency of

Cobalt.

(A) 1

(B) '3

(c) 6

(D) 7

88. Which of the following complexes does not

obey EAN rule.

(A) [Fe(co)5]

(B) [v(co)61

(c) [cr(co)61

(D) [Ni(co)4]

89. According to Crystal Field theory, interaction

between central netal ion and the ligands :

(A)

(B)

(c)

(D)

ionic with covalent character

covalent

ionic

covalent with ionic character



90. . ar9kildleinsein o9leoourg4tdl ereinugt :

(A) [Rh(cl) (PPh)3]

(B) [Ir (cl) (PPh).]

(C) [Co(NHr)uCl,

(D) Kn[Fe(cN)ol

91. Gpeiuori e nyerflu9leb c-Galn66
€tp6i,r {9t6Ddr6q& Ge rtoionc e_6h6no.

(A) sn

(B) Cu

(C) Co

(D) Hg

92. .g@5l6op  0 gpdrr 120 o;orrJ o_shen,
pana;u:nor peufl rorueofl ein $l g46afl u:nafldr
et$e uua r9lororu u nfpeb :

(A) 7.03 eV

(B) 7.03 MeV

(C) 8.5 MeV

(D) 8.s eV

93. Srl6u flareu&19Lb @4A $leoeurilg6
$eorGu.l e-eiror 6lu rflu egpfl
GoupunGr-, rgt6 up.o $laneuuq peinaro
Gls namu onfflurueaflein $ourr- gqr_
sneu$$fl6 o nqonLb er eingt

areinuo.rri etgXSlu9 LO *'flornri.

(A) ano.rG*sri

(B) 6lenrr-

(C) ooeuoiusnu

(D) r9u:rfl geri
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90. Wilkinson's catalyst is :

(A) [Rh(cl) (PPh)3]

(B) [lr (cl) (PPh)3]

(C) [Co(NHr).C1,

(D) xnIFe(CN)ol

91. Nessler's reagent contains
in its complex.

(A) Sn

(B) Cu

(C) Co

(D) Hg

metal

92. The greatest binding energy per nucleon of
the stable elements with the mass number
between 40 and 120 is :

(A) 7.03 eV

(B) 7.03 MeV

(C) 8.5 MeV

(D) 8.5 eV

93. suggested that the reason for the
long life of metastable isomers must be due
to the large spin between the initial state and
final state.

(A)

(B)

(c)

(D)

Weizsacker

Blatt

Weisskop

Pierre Auger

)



94. u$$ eu ainerru u raerl r-9lrflene u9lat u u.rein

u@$pu u@ rb Glungtau nar $eino $l f uq6
Glunlgeh erg ?

(A) gflorntouur-u eemrarrnrq

(B) 6lo5lan Glgeb

(C) oiuL-nt&

(D) orfl

95. Gl oei-ra5l u-r etO6O er.rednerruuraq r5lflora

goorgru9lcb etrilGorn err6lo$aop
oainl-flu: uueinu@$puu@Lb enqaftfl

615t ?

f A) 16leineoalnrlflein

(B) qGynGr-onorponcb$oLb

(C) s6fl6il6i,r pnGou

(D) GaraflaSlein-e$ps sdlol6

96. goeu6*'g $lore Gore riis@tcn6n
LontsoiuGoro uru8u@& *oeinun@.

,M(A)

(B)

C
2RT

v=e-E/RT

J2M(C) V
I]RT

I

(D)

97. orpr--qgaflein Gonpcir efluu6 :

(A) 273 pm

(B) 218 pm

(C) 298 pm

(D) 374 pm

dn^ [Ml]2 -Mc2
n' [ 2rrRT ] 2RT c'dc
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94. Which is the common solid material used for
packing of column in Column
chromatography ?

(A) Powdered glass

(B) Silica gel

(C) Starch

(D) Charcoal

95. What is the visualising reagent used for
Amino acids in thin Layer
chromatography ?

(A)

(B)

(c)

(D)

Ninhydrin

Bromothymol blue

Anilin Phthalate

Varmilin - Sulphuric acid

96. The equation for Maxwell Distribution of
molecular velocities.

(A) C

(B)

2RT

v=e-E/RT

(C) V J2\n
8RT

Jttl

(D)

97. The Collision Diameter of N, is :

(A) 273 pm

(B) 218 pm

(C) 298 pm

(D) 374 pm

_ -1dn^ I M 12 -Mc'
n' L2nRTl 2RT c'dc

a



98. gO er9lannrqugl6b eO goo&oe.fleir
G o npebeofl ein creiresfl 66Dc E $riaainu
crauflflgg& eLoLb ?

(A) no2N< U>

(B) orPN<U>

(C) orN2<U>

(D) rroN< U>

ee. Cleuuu $tug$lrlgpetr
@udser9l ueU Gleu.reb$lpein :

(A) TI =q2-q1
cll

(B) TI
qr

(c) 1
Tz-Tr

T2

Clor uu

(D) TI
Tz-Tt

q1

100. GLoBaiuGleueb a6l$u9ldnur1 goal&a.,,Et

$areGera$$lfsrar eurflaDs :

(C-or- ot rilicgrat e7nerfl $oreGeucrb

Cuu - +7nefl peoeGa:.roLb

C.o - rflooqtb en$$uronor $oreGeueLb)

(A) C.-_ , Cu, , C_p

(B) C"u , C..",, ) C_p

(c) cav < cmlsv > cntP

(D) Cr'p > C"u > Cr-"r,
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98. The number of collisions made bv one
molecule per second shoulcl be equal to :

99. Thermodynamic Efficiency of a heat engine
is given by :

(A)

(B)

(c)

(D)

(A) TI

(B)

ndN<u>

a#Ncu>

rnN2< U >

troN<U>

q2-ql
9t

qr

Tz-Tr
T2

T"-T,
9l

(c) rl

(D)

100. According to Maxwell's law, the order of
molecular velocity is :

(C*or- root mean squ e velocity

C"u - average velocity

C.o - most probable velocity)

(A) Cr_* , Cur, C^P

(B) C"u , C"."u ) C.p

(c) cav < c.msv > cmP

(D) C-p , C", ) C..",

a

I



CHCI

7.27

cH2c12

5.30

cH3cl
3.05

cH3l
2.'16

3

(A) @orarr$lpein erGotuTnein erurior.l

et$s/fluq

(B) eluaflu:n6qgrjr +ppefu etperfluq

(C) Staroo$lpdir erGleu&L-qnein etLfq
(96Dp6q

(D) eluaflu:n&1gLb +ppefu (gorpq

lo2. ltp enpn - srqeuenngLb $)rfeuntua9lef,
r5leineu19Lb gro&*.pe gtie not tr.""
o$luqe oflein e flur n6r og orr iflooe &

617o6:

(A) 1, 3 - r9lg4ur--neo r uSein < 7,3,5 -

Glpp6enqorTuSein < cr$$lalein < p -
sGynrr.ein

(B) 1.,3,5 - Glgote nqorTuSal < 1',3 -
u9lg4L-L-norr--uScin < er$$lcr5ein < B -

eG7nr--r".ein

a

(C) P - sGTnrreeiir < 1, 3,

GlgDBenrqanf uS6irl < l,
rll g4r-r-naouuSin < cr$pa9dn

5

3

(D) o$$la9<in < 1, 3 - r9lgL-r-narrr--uSein <

7, 3, 5 - 6g96enrq6n[uS6itr < P -
eGrynuroein
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101. In NMR spectroscopy, the chemical shilt of

protons in the following molecules increases

due to

CHCI

7.27

cH2cl2
5.30

CH3CI

3.05

cH3I
2.76

3

(A) lncrease in valence elechon density

(B) lncrease in ionisation energy

(C) Decrease in valence electron density

(D) Decrease in ionisation energy

102. In UV-visible spectroscopy, the correct
increasing order of L-u, for the following
molecules is :

(A) 1, 3 - butadiene < 1,3,5 - hexatriene <

Ethylene < P -Carotene

(B) 1,3, 5 - hexatriene < 1,3 - butadiene <

Ethylene<P-Carotene

(C) P - Carotene <1,3,5 - hexatriene
< 1, 3 - butadiene < Ethylene

(D) Ethylene < 1,3 - Butadiene < 1,3,5 -
hexatriene < B - Carotene

101. NMR $lqeunuro,9e!, r9leiner:96 greu6

r.ge oflol uairan qGrynr-r-neinsoflein Gor$l

p5ri6,.l et$lerfluup@enor enqmrr-b

I



103. NMR pfa:nu-rorSle;b, 2 - orpuGTnqyu
Gu gt6onor ane6Dssdfl 6tr erainofl 6ens
LoDgLb ggoin Oifluq er.rane :

(A) 2 eoeolss6ir, @gr-9lenuq ofrpLb
erqg6loruq

(B) 3 ore60ss6h, gSorp Eenuq LoflgLb

@19r-9lenuq

(C) g(D 6D66D5, @grSlenuq
(D) g19 ars6Dss6h, @CU gp6op

r9loru rlseh

104. n[gl gro6a'Eeoflein g$nq - &ppdl

Sl f efu eafl rin er$l tGlorain $laou61auafl :

(A) 8B

(B) 6B

(c) 4B

(D) 2B

105. erc66loluq $)Tonu:aflef , Egil6eainr-
Clpng$ageh crgp 6lpng$, 1600 -
1530 cm-r LofgrLb 1390-1300 cm-1 -safleir

$qg ougteunen uflq!*aoeeoorp Gpnfg
a6lilgLb ?

(A) anpr--G6n Glpng$lash

(B) gelsgonerSlt Clpng,$eeir

(C) gouEaomruqeah

(D) $qroluu L9lorarruqeoh

106. u6ibpn68 Glrop$d perfl a-Euq r-69ain
Gloroq$pneb Gpneirpr6*.rquJ EPR

or.r rflsaflein erainoofl& os :

(A) 3

(B) 4

(c) 6

(D) -t2
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103. In NMR spectrosc opy, for 2 - nitropropane
the number of signals and their spectrum
are :

(A) 2 signals; doublet and septet

(B) 3 signals; singlet and doublet

(c)

(D)

One signal; doublet

2 signals; 2 singlets

104. The frequency separation in the vibrational
rotational spectra for diatomic rnolecules is :

(A) 8B

(B) 6B

(c) 4B

(D) 2B

105. In IR spectroscopy, which one of the
following groups gives two strong
absorptions at 1600 - 1530 cm- I and 1390-

1300 cm-1 ?

(A)

(B)

(c)

(D)

Nitro groups

Alcoholic groups

Triple bonds

Double bonds

105. How many EPR lines are possible for
methoxy- methylradical if it undergoes
hyperfine splitting ?

(A) 3

(B) 4

(c) 6

(D) 1.2

a



107. .'"Glurir6l z r-aflancorl ereinug grpeinolto

er$na$S1qLb

Sorr-uS6.
$eorGu leiron

(A) gopetnoro erSltol

(B) Goggryuuorr-

(C) euarenpeir g6,ta,l

(D) GLof*'flu eleoor$5t6

1 08. $lorgreqp n& Gsf Lorire6tfl 6b r-9ldnor qg Lb cr$p
ororo onflpgop Glupflqr;qgtb ?

(A) n- o-

(B) tr-n-

(C) c-o-

(D) n-r'

109. gD(D GeriLo$$leb $loogreqgrn$peinarLo
etpeitld;g,Lb 61unq95t rmax -ein Lo$uq

(A)

(B)

(c)

(D)

er$lsfl6gr-b

156Dp u-l6

LonfpLb o916 @eforeu

ggiuLondlpg

110. n -+ rr. Lo nflp$gtt-ein Clpnlriqanuu-r
ur-6DLU n6T5l :

(A) Gu$Gpn& 19G7nrfl6 peterl

(B) pufiluGen qgGrynrfld peieq

(C) angDuuri qgGrynrfl6 sr9lorenol

(D) argDuGun6 gGTnr-616 er9lanorol
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107. Fermi resonance is due to interaction between

a fundamental vibration and

(A)

(B)

(c)

(D)

Fundamental vibration

Overtones

Bending Vibration

All the above

108. The type of transitions that occur in the
unsaturated centres is :

(A) n-o-

(B) rr-n-
(C) o- o-

(D) n-t-

109. What happens to )tmax value when the

conjugation in a molecule increases ?

(A)

(B)

(c)

(D)

Increases

Decreases

No change

It becomes zero

110. Peaks associated with rr -+ tr* transition is
called :

(A) Bathochromic shilt

(B) Hypsochromic shift

(C) Hyperchromiceffect

(D) Hypochromic effect

P.T.O.



111. NMR pponaoaru9leb uueinu@$puu@rb
pe rtol Ga.r$lrisn[trfl66iT r9leina:1gau or
6,rDE6iT fiorEod,r .et6)ffirq GertoonlgLb?

(A) r9lqGe narurflu:6

(B) p6sen

(c) g$$arflu:6

(D) aout-unaflu.rLb

rf2. 6lungtefein gro6e'flein
@5O _______nt/z
GpneingLb.

(A) 43

(B) 76

(c) 77

(D) e7

elquu6DL
opuEei:

113. FTIR -uueyor$$eb erSrtGleuainafl dn

geiaSl u: 6 r-91 einer.rlgeuaro$fl<;ir oenp
Glungpgr etotlDflp$ ?

(A) oarr@ r-9lrqu u nein

(B) goflga;Lb

(C) sainarrnrq penor

(D) oiuGcsin

114. uebGoug auore onSprfueofl<in gflDd)
r-9leinorgLb 6tb1 arrfloreu9leinuq
a.roreuu@$puu@6lpg ?

(A) o -r d > n -) o* > n --r r* > n -+ ,rr*

(B) n-) o* > o-) o* > rr -+ r* > n-)rr*
(C) r -+ rr* ) o -r o* > n -) o* > n -) rr*

(D) n-+ rr* ) o -) o* > n-) o* ) rr -) r*
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111. The shift reagents used in NMR spectra is a

complex of :

(A)

(B)

(c)

(D)

Praseodymium

Nickel

Ruthenium

Titanium

112. The base peak of Toluene appears at

-__-I,1/2.

113. In FTIR, ttre accuracy of the frequenry mainly
depends on the accurary of:

(A)

(B)

(c)

(D)

(A)

(B)

(c)

(D)

43

76

77

9-t

114. The energy required for various hansitions
are in which of the following order ?

Detector

Source

Mirror positions

Scan

o -+ o* ) n J o* ) tt -+ t* ) n -+ tr*

n -+ o* > o -+ o* > r -+ rr* ) n -) rr*

r -.) t* > o -+ o* ) n --+ o* > n --, rr*

n -) tr* ) o -+ o* > n -, o* ) t -) t*

(A)

(B)

(c)

(D)



115. 6Dpr-fts6irr o9l$"+ 6rlr-arr- uo>L
crarr-qeiror gral&c'ge oir 6ro;,p

erauClu:tb Glugflqgris Go.rain@6 ?

(A) gpangr uorl- aopuTgein elg!656iT
creincsfl 6ans

(B) 6,Iuoou
eigl{ieair

U6DL

eratrorfl&eoc

6DpL_[B6r

(C) arpL-qgein $qg6sngt

(D) orpL-7gein Seionog1 Lb $t66son6
srebarg1 @[.aou uor L- eraineofl&-

eosu9leb arprrlg6in etglrisoir
Sl66eornLb

116. gnain@pci: eflororal
erarri rn nein pL-oarri rflsLbClmar

(A)

(B)

(c)

Tt'

o

(,

TT(D)

117. NO2, F, Cl, Br, I , OH, CuHr Guneinpr

Glpng$leeir er$p o9laroreq Glsneinueneu ?

(A) cro&uGqnGlLor--rfl 6 er9lororarl

(B) + I 6616rl6n6q

(C) - I er9lanenq

(D) LBGenGloiFl& er9lanoreq
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(D) Mesomeric effect

P.T.O.

115. As per Nitrogen rule even numbered
molecular weight molecules must contain :

(A) Odd number of Nitsogen atom

(B) Even number of Nitrogen atom

(C) No Nitrogen

(D) No Nitrogen (Or) Even number of
Nihogen atom

116. Inductive effect involves
electrons :

(A)

(B)

(c)

TT

o

o

1T(D)

117. NO2, F, Cl, Br, I , OH, C6Hs groups cause

(A) Electrometriceffect

(B) +I effect

(C) - I effect



118. cnrtu6irr Gprirflein g uafl u9l ein Sl orat u q$
psinor ou9iein 6p.CE ori lflare :

o @ o o
(A) CH3 > CH2CH3 > CH(CH3)2 > C(CH3)3

(B)

o o @ @
(D) CH2CH3 > CHa , CH(CH3)2 > C(CH3)3

oo@@
(cH3)3 c >(cH3)2cH>CH3CH2 > CH3

e@eo
CH2CH3 , (CHg)z CH > CH3 > C(CH3)3(c

119. Glueinfaflo zeiror
r-9leoouruq 6*rb

ClLon$p gg C-C
stoLDrrts 6Cf ,ir*

5rr[6fitD.

(A) $umug eoporo:

(B) gtdin@p€i, or5loronaq

(C) onf flu.rLb

(D) e-L-oflan+er1

120. o Eenamruq Clsnainr- u$a5u@
6pn1g$ri;g6, GlpgruSu rr qriur-9I--l-n-
gtrfi <grb @orl-Gu-r ueiror qrir-91 ul-neit
Glsnrriu cror .gr eo Loris u -

uGrb

(A) orgourianeingOGce 6in (=gr6r-.,r,f -

o9lororuq)

(B) grainL-eb er9lanenal

(C) Glsn6ir6rfl olL a9lanensq

(o) @qggraleo - 619(9** court&8
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(D) Dipole - Dipole interaction

118. The decreasing order of stabilities of carbo

cations is:

@ o o o
(A) CH3 > CH2CH3 > CH(CH3)2 > C(CH3)3

o o o e
(B) (CH1)3 C > (CH.)z CH > CH3 CH2 > C H3

(c)

o o o o
(D) CH2CH3 , CH: , CH(CH3)2 > C(CH3)3

119. All six C-C bond lengths in Benzene are equal

due to

(A) Tautomerism

(B) lnductive effect

(C) Isomerism

(D) Resonance

120. Orbital interaction between the sigma bonds

of a substituent group and a neighbouring tr
orbital is knows as :

(A) Hyperconjugation

(B) lnductive effect

(C) Steric effect

eeoo
cH2cH3 > (CH:)z CH > CH3 > C(CH1)3



121. erqg$puuru ornq&sornargt 1goflri
aSlBeuu@eu51 :

(A) Cleuuupano Lonpn goarpu9lei-r

o6lrflor or upoSleir

(B) Glor.ruuLb ronprn 6la ur eil gr arr p ugl ei;

e0 rfla.rorr--pe$cir

(C) 6lor uuflanar Lonpn 6le u:argrorpu9leir

elqg$puu@pa!eir

(D) Glatuu rj: onpn Gleu: ebgoorgl u5leb

etqg$puu@eupneil

122. @O e,er,t Egiltt crlogri*'r-rqein gcmateofl eir

A- u-l Lb, ortou:6a"'uraeU B-rqLb
zeirenGlpam6 Glsnainuneb, gp6in
gro6a'g ounuluun@ u ngi ?

(A) AnB

(B) ABn

(c) AB

(D) ABz

123. 50 pm urflLonerrdl leiron gqg a'awglV$$at
( I l) p6rp$d e-eiren roirperr $teorGlerofl:

(A) 50,215 pm

(B) J5lso p*

(c) 3/.60 pm

50(D) T P.
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(A) Isothermalexpansion

(B) Adiabatic expansion

(C) Isothermalcompression

(D) Adiabaticcompression

122. In a cubic crystal lattice, the corners are
occupied by A and centre of the lattice is
occupied by B. What is the molecular formula ?

(A) AnB

(B) ABa

(c) AB

(D) ABz

123. The interplanar spacing in a cubic system
between the (l i l) planes with the dimeruion
50pm:

(A) solJ5 pm

(B) J5lso pm

50(D) T P*

121. The compressed gases can be cooled by :

(c) 3,/Js0 pm



12a. X-s$lri sfloflLbq er9lorensflo er$our--e
r-9lqpueriluq crorp& +nri$gr et6ondlpgt ?

(A) unieoeu GsnmrLb

(B) eloro $entb

(C) cr$Glqnofl$pei.r sr:rflooe

(D) saoflri;Gan6D6u porrfuoqg&19

$errr--u u L-L- Glpnorarol

125. sr u:afl u urasrirsqg&onan 8$riengt rb

uainqe afl a; 6151 O6Dppp .9t6nq
enmruu@dlpgt ?

(A) ge6lu:npeir CloruuLb

(B) eurq erqg$ptn

(C) c1915 $loro

(D) Clsn$ pomr

1 25. e-i6DEL or qra.r$$l efu er$l trfl ein et u.raifl u9l ein

<9l6)tDUr-l :

(A) FCC

(B) BCC

(c) scc

(D) HCP

127, AgBr urqs$$al Ag* eluaflunorgt
$orL-&61*1gee! parataofloir 5r6sTU

u@arpno erEu@Lb er5lorene4 :

(A) aryru61 qgeogrun@

(B) J.i9lqrtuseil gorgrun@

(C) e-Galns6 lgorgrequ@tb lgorprur@

(D) c-Ga-lnc6 et$egroiror eflorenq
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124. l^ X-ray diffractioo the maximum reflection

of the rays depends upon :

(A) Glancing angle

(B) Wavelength

(C) Order of reflection

(D) Interplanardistance

125. Which of the following property is low in
ionic crystals ?

(A)

(B)

(c)

(D)

Heat of Vaporisation

Vapour pressure

Melting point

Boiling point

FCC

BCC

SCC

HCP

Schottky defect

Frenkel defect

Metal deficiency defect

Metal excess effect

125. The array of anions in Wurtzite structure is :

(A)

(B)

(c)

(D)

127. T\e defect caused by an Ag* ion occupied in

the interstitial space of AgBr crystal.

(A)

(B)

(c)

(D)



128. 6urq gDo{i&.!dldn, etrnerfl sr-t+6iralr
un6)p :

(A) P -rig Gpn er9l6lp$ GlpnutqaDLurgt

(B) T -619 Gpri efl6lp$ Glpnutq6Dr-urgj

(C) T -eg er$n er9l6lp$ Glpnufqoruu.rgr

(D) V -rig Gpn er9l6lp$ 6lpnunLlolLur5

L29. erpp Glauuupeoou9d, Nr(e) gooBa.,fleir
e7neifl $oreGeusLb, 100"C 6loLuu

$lonou9lril e-eiren CHn,r, g:ar&*.Slain
+gnelfl $loreGeue$grL-ein sro LD n6

$grigb z

(A) 380 K

(B) 6s0'c

(c) 380'c

(D) 200 K

130. e19 uqe$$dr gr6uq geinflgranr-u.r
r.6lebori crerrssir creinu5l etbg:e uq
uebGa.rg et&srisanan Gleu r-u&a.rqu.r

$orr--Cler.rurjs@619 
'

(A) Gpi efldlpgpci; $<O,i'g,b

(B) erDLono 6O,icg,b

(C) 6lDtor5 $g6angt

(D) er$ria9lClpg$letu 6CO,i(9,b
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128, The mean free path of a gas molecule is :

(A)

(B)

(c)

(D)

Directly proportional to P

Directly proportional to T

lnversely proportional to T

Directly proportional to V

129. At what temperature, will the average
velocity of a sample of N2(g) be the same as

that of CHr,r, at 100'C ?

(A) 380 K

(B) 6s0"c

(c) 380.c

(D) 200 K

130. Mi]ler Indices of a face of a crvstal are :

(A) Proportional to the intercept of that
face on the various axes.

(B) Equal to the intercepts of that face on
the various axes.

(C) Not equal to the intercepts of that face

on the various axes.

(D) Inversely proportional to the intercepts
of that face on the various axes.



13r. 8$rieainu geirflefu 6r$ +6DU-@'o&66i)
geine nsi stD6irlun0 ?

" I az.n s.zox ros ' I -(A) "'=""-lGrrF;* ,rr', "-1"

(B) Am= Am -
82.4 8.20 x 10s "

-*--------rm

(DT)'ir (DT)",
ve

. {a.zox ros 82.4 ) -(c) "*=""' -t (Dr/h *rip"-iv.-

i.=^- -lt'o',lot* 8'1, i*lve
[ (DT)"rr (DT)-, 

)
(D)

132. 8p6airTr.-errpfld, 615l

peneuu9lerSlO$gl Glprru19Lb

Lon[p6 Clenoironnpg ?

(A) 6npoi,

(B) u eufl o u: Lo n6e eir

(C) oEglurq6un&e6i)

(D) 6luuooL-r-n6sb

e'pLD
fileoardrs

133. Geu$luuquq seun&6&g r-9leinau196

etflBoreeofle! crgt 61un1g$png ?

(A) ep6Dp gro6a'g et@&errc
e-geun&gdlgrgt

(B) @errpbp Gloruu pora;u9lal

6"06tpgl
(C) er66 uryuq& earftPeu

Glou u ugpeoen 6luf fl gedpgl

(D) uIur-..]56rr[uut-r-- Glungoir LopgLb

uyuqeeuriGlugoir gdlu: or: P flein
peinon Lou9l eoeur e nri$g eircrg.
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aclsorbent

131. Which one of the following is a Debye -

Huckel and Onsager equation ?

" { az.r a.zox tos. l-
(A) ^^ =". -[-r/,,r-* ,orp ^.Iu.-

(B) Am= Am -
a2.4 8.20 x 105 .

- 

* ------------ nm(DT)',r (DT)'2
J'

" [e.zo" ro5 82.a " I r;(c) ^'="'-l 1pfr,1 
**n,6"'1".-

' [s.zo , rou 82.4 L=
^m = m -,1 ----------.i- + :-------.i- ^m I 

v L
[ (DT) rI (DT) r 

]

(D)

132. Which of the following does not involve

change of colloidal state to a suspended

state ?

(A) Coagulation

(B) Flocculation

(C) Precipitation

(D) Peptization

133. Which of the following statement does not

apply to chemisorption ?

(A) Forms a unimolecular layer

(B) Occur at low temperature

(C) Has a large heat of adsorption

(D) Depends on nature of adsorbate and



134.41ar7g1q or9loo orris neur oSloranGo.re

LonSler5lu9lein ereug +(9rD.

(A) ldr]yt/z ^o;% "-r
(B) dm3 mol-r s-1

(C) (dm3y-% m61li r-t

(D) 164e/i ^o1-% 
r-t

1 35. *r$ Lo eeir yeei.resir pu: nrfl u up$1g rSl rfl arc$

51seirsoflein 416n6u r6Tgl :

(A)

(B)

(c)

(D)

10 mp - 200 mp

1 mp - 2000 mp

1mp-200mp

10mp-20mp

135. H+1a4 + "- = ]nr1g1 6r6irrugl 

-riqgzgnrJwrb.

(A) e-Gors - uGeuns rfleing:oren

(B) gGorniflein u6leingroran

(C) g6on5lgetn L6leiirgooran

(D) eunq r6leingroran

137. A+28 -+ 3C eou@$puur-L- e6loranu5leir

C -6irr o /g6! npeir orfleoan GeusLb :

(A) -%#
(B)

r z dlCl
/r dt

(c)

(D) 3

dt

dtcl

GAr 2023 I A
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37

dt

P.T.O.

134. The unit of rate constant for a half-otder
reaction is

(A) (dmsyYz 6o1-Yz 
"-t

(B) dm3 mol-1 s-1

(C) (drn3 y-% mot% s-l

(D) 1dm31% ^o1-% "-t

135. To prepare the colloidal solutions, the
dispersed particles should be within the size

ran8e.

(A) 10 mp - 200 mp

(B) 1 mp - 2000 mp

(C) 1 mp - 200 mp

(D) 10 mp - 20 mp

135. H+(aq) + "- = ]nr1g1 is an example of

(A)

(B)

(c)

(D)

Metal - metal ion electrodes

Chlorine electrode

Oxygen electrode

Gas electrode

137. A stoichiometric equation A+2B -+ 3C, the

rate of formation of C is :

(A)
dIB]3//2 dt

dlcl
(B) 7//3 clt

" dlBI
dt

(c)

(D) 3

dtBl

dlcl



13E. q f 6laflu: oiu eo-rorru@ *'5!o sonT*a,r

punrfl6qg6 granp :

(A) $yn$u6$pctu sr9looor

(B) g@&e a5loror

(C) g&flgGor$gr erflorar

(D) @[L-6DL- SorrpororL-peb er9lanar

139. r-9laina.rgLb erflaoe.uru5lef ag: Guner5l gopei;

6u6D6 g)al6&9t er9lanoru nlgLb ?

(A) enrJ eo6lgor9luna.l oaiuL-an7 $rynf
ugpp6i)

(B) Hz+Ch -+ 2HCl

(C) el r6lal eo6ger9lu:nol ereiuuorq $gn@
u(qppd)

(D) NrO, -+ N2O4 +
1

2

140. u[uqs6unpe6lrir on$p$cop etp6itr

etqgpp$orprn 6e nain@ tDrPn

Clor: u u$$et gflBsuu@Lb 6r6D6lrat ar

eroratnLb.

o2

(A)

(B)

(c)

(D)

urJu qsor rtpeb gG*nu nri

u 7u qsa.r rtpo.r 6Genpi6
u 6u qeor ripeu gGeaiuGL-ri

e-r-oorfpeb gGenpriLb

141. SD6clsn@&suuu@airen erelaroril pafl
e-gu qsafl o et$ls floraruqpainoro
ornu:$pg ergt ?

(A) grflorerru-r

(B) 6lLo$$16

(C) nifleoarru-r

( D ) ' Epe6loranu..r
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138. Arsenious sulphide colloidal solution is
prepared by :

(A) Hydrolysisreaction

(B) Reduction reaction

(C) Oxidation reaction

(D) Double decomposition reaction

139. Which reaction is pseudounimolecular
reaction ?

(A) Base - catalysed hydrolysis of an ester

(B)

(c)

H2+Clz -+ 2HCl

Acid - catalysed hydrolysis of an ester

(D) N2O5 --+ N2O4 + o2
1

,

140. The variation of adsorption with pressure at

a given constant temperature is given by a
curve called :

(A)

(B)

(c)

(D)

Adsorption isobar

Adsorption isotherm

Adsorption isotere

Absorption isotherm

141. Which of the following alkyl free radical is

most stable ?

(A)

(B)

(c)

(D)

Primary

Methyl

Secondary

Tertiary



142. I1]15ainL6D6!u9lo.l 6rgt SN1 e.flor orc afl ei.r

er$e aflarar$p@tcDLuJgl ?

(A) CH.Br

!r.
(B) H3C-C-Br

CHs

(c) CHTCHTBT

HaC

H:C
(D) ) cH-o'

143. 8$e ainu $As aglao orugleb gopeinan Lo

o9lararGunlgeh :

CHet- c2Hsoo
cHjcH2-c-cH

Br

3 --------------)

3CH

(A) cH3cH2-l

CH"t'
-CH=C-CHg

CHz

(B) 
CHs

CH3

(c)
cH3cH2-c-cH3

oc2Hs

(D) CH3CHTCHTCHTCHTBT
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(D) CH3CH2CHTCHTCHTBT

P.T.O.

142. Which of the following is the most reactive

substrate in S*1 reactions ?

(A) CHrBr

(c) CH.CHTBT

(D)
HsC

HgC
) cu-n.

143. The major product in the elimination
reaction:

CH.I ' CrH*Ov
cH3cH2-c-cH: 

-->
I

Br

9H,(A) CH3CH2-C=CH2

CH3
(B) CH3-CH:C-CH3

(c)
cH3cH2- -CHa

oc2Hs

CH3
I

C
I

!,,
(B) H3C-C-Br

I

CHa



laa. t$6eainu Gsforiro6rflo 6rddo

eraiuuTn&s sr9lorar poru6lupng ?

COOH
CH

(A)

(B)

(c)

(D)

COOH

COOH

2

3

CHs

CHs

COOH

CH

GAT 2023 / A

CH3

40

(D)
CH 3

144. In which of the following compounds
esterification reaction does not take place ?

COOII
CH3

(A)

(B)

(c)

CHr

COOH

COOH

CH:

COOH

CH



1a5. 6$6sainr- Geiorirs6rfl eb ergl Gl uein$ein-

eD L-urGen6flu Lb qgGornoo7@ r-ein

r-9lorannpeb o9loraru9leir rr@ u rngt ?

NH

(A)

(B)

(c)

NH

2

2

CH3

CHr CHr"\* /
H:C CH

HsC

3

CHe

N

(D)

146. 8lpsr@tlb goa:6*'flein IUPAC 6luuri:

BrBr

cH3-cH2-c-c-H
tt
tl
Br Br

1., 2, GtLr-y n qGTnGon r9l g4L-Grein(A)

(B)

(c)

"t, 7, 2, 2

Glu eirG rein
"t, 1, 2, 2

- 6luL-7n qGTnGon

- Clr--r--7n qGqnGon
r9lgluGL-ein

(D) 1, 2, orr-qGrJnGton r-9lg4L-Guein
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(D) 1, 2, Dibromo butane

P.T.O.

145. Which of the following will not undergo
coupling reaction with benzene-diazonium

chloride.

NH

(A)

(B)

(c)

NH

2

',

CH3

H:C CH

\*/

3

H:C CH3

(D)

145. IUPAC name of the following molecule is :

Br Br
tt

cH3-cH2-c-c-H
lt
Br Br

(A)

(B)

-1, 2, tetra bromo butane
"1, 1, 2, 2 - tetra bromo pentane

(C) 1, -1, 2, 2 - tetra bromo butane



147. 3 - 6DgDL[nB6nt r5lg4r-L-orna5lein e6loror&

Gleu:<ir Clpnlg$ :

(A) qebeppnri.r
(B) EuGunein

(C) +ci'+6tprl@
(D) orgeuTn6on5l 6lpn19d

148. 1 - 6lueinu.oran gGerunGor$pr.b 61etg,
HzOz Gle nain@ gtnon5lgGanf p6
61eu-.rqd: Clunqgg Sorruugl :

(A) r9lggr--l-annorqattsDG + unrionebrq
ororn(A

(B) u9lg4L-unarnu5l& er rdla;Lb + Co,
(C) r9lggur-orneirrqanpo@ + unir-616

er16lob
(D) qGynuarnu5l& gr.6lob + er8L-r+&

err-6lat6

149. er9lonor8ein Ger.ro$aop et$efl&e&*'qur
€{(g5r6DLo Glpng$ u9 eiir ur serfluGl6D6ur

6r6ir6ung elaop6dlGpnLb ?

(A) u8GsrGlofl& o9lororq
(B) poros$ $lguuln
(C) 4ru6lGlLorfli urireorfluq
(D) gnainuei.r eflaoeneq

150. gelSeineqgrein qGTnrflaflein GenBolo
orSlororu:norgr SleqgLbGungr e49a.r nlgb

@orL-poro u:ng ?

)c=c I +Br, ----+-l-C--tt
Br Br

(A) p6f1 , guq $orupona-r
(B) 61ot19rflaflu:Lb eruofl @orr--floro
(C) snriuein er$lrtrflrin e1u: afl $anu

6l-t
(D) ellaDcrrru qG6nGronaflu:6 etu:afl

$teor$lorar
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(D) Cyclic Bromonium ion intermediate

147. The functional group of 3 - hydroxy butanal

ls:
(A)

(B)

(c)
(D)

148. 1- Pentene undergoes Ozonolysis followed

oxidised by HrO, to produce :

(A) Butanaldehyde + Formaldehyde

(B)

(c)
Butanoic acid + COz

Butanaldehyde + Formic acid

(D) Propanoic acid + Acetic acid

149. The rate enhancement by neighbouring group

participation is called :

Alcohol

Ketone

Aldehyde

Hydroxy group

Mesomeric effect

lnversion

Anchimeric assistance

Inductive effect

Free radical intermediate

Mercurinium ion intermediate

Carbanion intermediate

(A)

(B)

(c)
(D)

150. Addition of Bromine to an alkene proceeds

via :

)c=c (
tt

+Br2-->-C-C-
Br Br

(A)

(B)

(c)



151. u9leino.rlgororer:fgeh er$p snrtuein Gprir6lein

elur6rfl et6l6 $loraluq$ peinoro
e_oruu..rgl ?

@
cH3cH2cH2cH2

(B)

@
cH3cH2cH-cH2

I

cHs

(A)

(c)
/A

(cHr3c-CHCH3

CH3 CH.t-
c-cH3

I

H
(D) CH

152. g8 L-Gunein e-r-u@erg1

(A) goflGo:$l Eenuq
(B) 6la.ruu Gloruq

(C) eLoLo$p r-9lenuq

(D) .stgl6e19 L9oruq

153. L9leineuqga.reneuf orp 6lunqg$ga :

AB
(a) ggu&e -1, 2- (i) dleneqnebrq

orL-qgGennGqn 6D9DO

a.r an anu: Glu einG L-etr

(b) 2, 3-enuargor--7n&61 (ii) o$lriarrrgaJ
qGrynuannei: on$Slu:6

(c) qGTnGonlgGennGTn (iii) g$p o.rrq6'rb

r-6$Gpetrr

(d) ongu&s -1, 2 - (i") aoe Teir

ox--lgGornGyn +qeilornp
arenanu-r6l uetrGL-ein goo**.'g
(A) (a)-(iv), (b)-(ii), G)-(iii), (d)-(i)

(B) (a)-(iii), (u)-(0, (c)-(iv), (a)-(ii)

(c) (a)-(i), (b)-(tl), (c)-(ii), (d)-(iv)

(D) (a)-(ii), (b)-(iv), (c)-(i), (a)-(iii)

I

3-C
@
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151. Which of the following carbocation is most

stable ?

(A)
o

cH3cH2cH2cH2

@
cH3cH2cH-cH2

(B)
CHa

(c) @
(cH3)3c-CHCH3

(D)

152. Acetone undergoes :

(A) Photochemical fission

(B) Thermal fission

(C) Heterolyticfission

(D) Nuclear fission

153. Match the following :

Column - A
(a) cis-l, 2-dichloro

cyclopentane

Column - B

(0 glyceraldehyde

(b) 2,3-dihydroxy (ii)

propanol

(c) Bromochloromethane (iii)

(d) trans-1,2 - (i")
dichlorocyclopentane

Enantiomer

identical

strucfure

achiral

molecule

(A)

(B)

(c)

(D)

(a)-(lv), (b)-(ii), (c)-(iii), (d)-(i)

(a)-(iil), (b)-(i), (c)-(iv), (d)-(ll)

(a)-(i), (b)-(ti), (c)-(ii), (d)-(rv)

(a)-(ii), (b)-(iv), (c)-(i), (d)-(rii)

tH. tH,cH3-3-f-.r'
H



154. gdfl ugl6ir goeiraflor o u9 ci.r rT'lFlanarru.l

r9l g4eor--eb lgGenneoqeor-- lgGarnrflGar$glL"b
G1+urqLb Glunqgg C)onruuaoou

(A) (s, s) & (R, R)

Lo np flu: rir e eir

er$lria:.r rryor

(B) (s, R) & (R, s)

LonSflu:ri:e oir

crp rior rqor

(c) (s, s) & u6Gen

o np fl u: rir s eir

go rl u rfl Lo n er,

(D) (R, R) & r-BGen

LonSflu:rirseh

g:uulflonon

(A) drieoou:fp Glpnqguq creinug gafl
eppgb sryarfl aru.: rl uueirru@$$l
gofl apSS elara; np goo6*.f engr

gofl ap[gb a9lororGl u nlgenne

Lonpger:gt.

(B) Ertanou-rpgr 61pn6uq aeinug g19

eos7efu z$glpeoeuu u ueinu@$$l
q$u Glpnqg orsrJat Glpnlguonu
e-garnBgprir.

(C) 5lg eosqril er9looemGlu nqgeoon, oeyeir

afl anarg4&61 Gls nain@ gafl op[6)
eflaranG u nlgorna r-onfgorgt.

(D) AO gruuitlmnaur Lonf $luLb
e-gor narp$ g er9l or anGl u nlgGarn

€ta;algt sqarflGu: n et6berlgt

oanryuunGann gllur erp rio"r rqor

Lonf flu:ons $lClppoil Gorain@6.
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154. Clorination of Sec- Bu tylchloride in the

presence of light gives

(A) (S, S) & (R, R) - Enalrtiomers

(B) (S, R) & (R, S) - Enantiomers

(C) (S, S) & Meso - Stereoisomer

(D) (R, R) & Meso - Stereoisomer

155. Pick out the incorrect statement :

(A) Asymmetric synthesis involves the use

of an optically active reagent to convert

an optically inactive starting material

to an optically active product.

(B) An asymmetric synthesis involves the

selective formation of a new chiral unit
and needs the presence of chiral
influence.

(C) A chiral starting material is therefore

converted to an optically active product

by a chiral catalyst.

(D) For the formation of one stereoisomer

over the other, the reactant or the

reagent or the solvent must be in pure

enantiomeric form.

155. porpr6dl *'$arp Gpn$$l@e :



155. peofl e-Eur-.16o6n crei.rar ng e ei.n L-fl u.r u
u@Clpg ?

(A) porp $lreuom:
(B) ESI - $1errp proeoar

(C) erarri uTnein Guf GtoBorr+ts
zu-aflaDe 6l[areoo

(D) $lorp @qal6ool Lo[Erb ESI - 6-p
6lrlsuo,o

157. EorGsnar- r-91orGonoein $ rLonf po5leir

6lorl-&c *'r1u: @arL-Slorar 61un1geir

crst 2

(A) orBL-rfein

(B) e nriu crp rirflein er u:afl

(C) 6lueinoreein

(D) snriGuneflu.lLb stu:afl

158. oerSluSB LopgLb r9lqLonrflB sr6lar$$lcir

SO&e *'rqur onfflu:Lb a5t ?

(A) $l onfflu:Lb

(B) oflanaruu@Clpnlg$) Lonfiflu.,lLb

(C) geiflu9u:eb onpflu:tb

(D) a.rrq6u LDnf dlurb

159. 8Gp Gle n@riou u u@eiren or.r qar otou r9la-r

ane 7eb snnueingeir utnonor ?

HHHllr
H-C1-C2-C3-Dtti

HHCI
(A)

(B)

(c)

(D)

I orirrnrd 2

3 ou@Lb

1 LoL-@6

2 oL-@6
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156. Free radicals are detected by :

Mass spechometry

ESI Mass spectrometry

Electron paramagnetic Resonance

spectroscopy

Both Mass spectrometry and ESI - mass

spectrometry

(A)

(B)

(c)

(A)

(B)

(c)

(D)

(A)

(B)

(c)

(D)

157. In the Pinacol-Pinacolone rearrangement, the

intermediate formed is :

Nitrene

Carbanion

Benzyne

Carbonium ion

158. The isomerism exihibited by Maleic acid and

Fumaric acid is :

(A) Positionalisomerism

(B) Functional isomerism

(C) Optical isomerism

(D) Geometricalisomerism

159. In the structure given below, which are the

Chiral carbons ?

HHHttl
H-C1-C2-C3-Dttt

HHCI
1and2

3 only

l only

2 only

(D)



150. r-9leirreugLb areslooLoiq Lon$fluLb
mGpafleir qpGla.rafl uun@eafl eu erg ?

H
H

l{
H

(A)

(B)

(c)

(D)

H

ergglf6iu 6lrlcanrj:

6lqra 6lrlsonLb

.'.r-91 e$ogrt 61 geemrLb

6lqr,*, oiurnsiu

oiuanL-rflein ofgLb 8gr-r--nooluSein

oiueoulllein to$grb 1, 3 - Sg4rL-n
ar ru9ein

151 . oiu oo r- /fl ein i9ggr--t-neoruSein 1uu ri

d.|<Opgt 6iupuu@6lpg.

(A) eiu eo riFlein ofgrLb 1,4 - LSg4rL-n
ao L-uSein

(B) eiuorriflein oSELb 1, 2 - Sp4r--l-n
an L-uSein

(c)

(D)

162. (+) onelGr-neoou errilo ,6Grpprb
CleurqLb Clunqgg dlaoL-&1gd er9leoem

eOerlorGlu nrneir

(A) 2C6H12O5

(B) C6H12O6

(c) c:2F{uloll

(D) (C6H1oos)n
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160. Which is the proiection for the following
conformation of ethane ?

II

H
H

Sawhorse eclipsed

Newman eclipsed

Fischer eclipsed

Newman staggered

161. Styrene - Butadiene Rubber is made from

(A) Styrene and 1,4 - butadiene

(B) Styrene and 1,2 - butadiene

H

H
H

(A)

(B)

(c)

(D)

(c)

(D)

Styrene and butadiene

Styrene and 1, 3 - butadiene

2C6Ht206

c6H1206

cl2H22o1t

(C.H1sO5)n

162. (+ ) Maltose is hydrolysed with acid gives

Droduct.

(A)

(B)

(c)

(D)



163. LSI q arn-N $l or eiuru eu u q p ur nrfl u r-91 ei.r

m@u@Lb er9lararu@Glunlgueeir creinor ?

(A) aiuoruiflein opELb r-9lqrunouuSeir

(B) 1, 3- l9lq L-unanuuSeir

(C) 1, 3 - r9lquunoruuSeir topg6
et6/flGeunorpuorqeu

(D) gGennGTn - 1,3 - r-9lq r--unerr uu9rin

164. r9leiner.rlgaoro.rfgeh oeoo.r qri$Gpn -
J.un6n Sul6oriroeh ?

(A) NO2, SO3H

(B) F, cl

(c) cooH

(D) cHo

165. EeineulgauarorfEeh Clo$$l<il +f@e
urilrflu crris c,-rilmr sflurnarer ?

(A) Lo@eeh $lgrLb snq corTeer5leit

(B) 6lsuq Slp6 en7 eeoTea5leir

(C) 6leuq flpLb 4qr6lar aarryeo5leir

(D) o@eeir flgrLb 4qr6lo eanTealei;

166. r-91 eina.r lgor oreu $E sh crg Cl eu u u$p neir

6*CO,b ua;urqeeh Soonporor ?

(A) une6lcr$$a9<in

(B) u noSl q Gl Tnu r-9la9ein

(C) u na5laiuor urf eir

(D) r-9l q r--L- nan r-u9ein
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153. What are the reactants involved in the
formation of Buna-N Co-polymer ?

(A) Styrene-butadiene

(B) 1,3- Butadiene

(C) 1, 3 - Butadiene and Acrylonitrile

(D) Chloro - 1,3 - butadiene

164. Which of the following are Ortho - Para

Directors ?

(A)

(B)

(c)

(D)

NO2, SO3H

F, CI

COOH

CHO

165. Which of the following statement about
methyl orange is correct ?

(A) Yellow colour in basic solution

(B) Red colour in basic solution

(C) Red colour in Acid solution

(D) Yellow colour in Acid solution

166. Which of the following is not a thermoplastic
polymer ?

(A) Polyethlene

(B) Polypropylene

(C) Polystyrene

(D) Butadiene



157. LDn6D6)sl- u&6Ds r5leinou gouareuSfl
dlOpgr Ciupruu@dlprg:

(A) Clueinend-rrqoogp@ +N.

N - aouGlo$orp<il etafloS<.ir

(B) +lEruneirrqopDo +N,

N - orl-GlLoiianE;ril eleufla9dn

(C) u nriLona; rqorpp @ +N,

N -aou6o$anpril erarfl aidn

(D) Glueinenu9l6 erriloLb +N,

N - oruGlo$orpdo elafleldn

1 68. er g 16l afl u: Lb lgGonnorrJ@ goein$larcuu9l eu,

Glung1uSein gGonnflGarfgr6 Clu66
Glunqgg 6lorL-&196 o$orenGlungeh :

(A) grt$Gpn LopgLb unrJn lgGennGyn
Glr--nguSein {Bal6)6u

(B) gri$Gpn gGornGqn6l-ngus6i,r

(C) unTn lgGennGTnGlung1 uSein

(D) r-orq6lgGennGqnGlL-ngluSeir

169. r5leinsugLb snur rir c6lfl 6b ereoorsoflei.r

qd;en5lgGor$p Slolel $rfl eir oaoyu.rnogrLb

erpdn g@6a paoo $lfleb eor6u:6
*.rqurgnoa16 SgrngLb ?

(i) e6buf enuJrfus6ir

(ii) Clpnuq& enurrirs6ir

(iii) er 16lo snurrfus6ir

(A) (i) LoSgrb (ii) rou@Lb

(B) (i) rofEtb (iii) Lou@6

(c) (i), (ii)ofl0|6 (iii)

(D) (ii) rofprLb (iii) toi-@Lb
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167. Malachite Green is obtained by the

following :

(A) Benzaldehyde + N, N - dimethyl aniline

(B) Acetaldehyde + N, N - dimethyl aniline

(C) Formaldelyde + N, N-dimethyl aniline

(D) Benzoic acid + N, N-dimethyl aniline

168. Chlorination of Toluene in presence of AlCl,
yields.

(A) Mixture of o-Chlorotoluene and
p-Chlorotoluene

o.Chlorotoluene

p-Chlorotoluene

Trichlorotoluene

159. ln which of the following dyes, the oxidised

forms are insoluble in water but their reduced

forms are soluble in water ?

(B)

(c)

(D)

(i)

(ii)

(iii)

(A)

(B)

(c)

(D)

Sulphur dyes

Vat dyes

Acid dyes

(i) and (ii) only

(i) and (iii) only

(i), (ii) and (ili)

(ii) and (iii) only



170. r-9leina.rgo.roreupEeir ogi 6lp$pnrudl
(qgGTnGLonGunlt) ?

(A) -N:N
(B) -NHz

(c) -ocH3
(D) -oH

171. E-u9lf ornpouan prusaflein F6Ds
egrisp;$<inGung1 e-ain@ uaingl Lb gG7
gg cr$norqo.ronffluLb
€o6
(A) (-)- aln6q6 err6lorLb

(B) (+)- a)16+& errilar6

(C) (-)- one$lB +lr.6la;Lb

(D) (+) - LonaSl& sdlob

172. ag!Lonurri soor or u9lei: ueiror (+) -

r-nrir-nitl6 elrfla.r$arp E-puqp 61+urqLb

rSleineuqgLb u n6re.ifl u: nrisafl eb erg ?

(A) GluafldlaSluLb SorndcLb

(B) Gluafl8a5lu:6 GlpnGuutil

(C) Gludler5loiu +uqerSloiu

(D) lgGL-nGLonorneiu qGryng!Gornorun

173. eunebr-ein paoa:EBton[pLb
a9la,lareu g! g:arpeou g$pgr

(A) SN1

(B) SNi

(C) S.Ar

(D) SN2
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170. Which one of the following
Chromophore ?

(A) -N:N
(B) -NH2

(c) -ocH3
(D) -oH

171. Living organisms produce only one

in the contraction

rsa

enantiomer of
of muscles.

(A)

(B)

(c)

(D)

(-)- lactic acid

(+)- lactic acid

(-) - Malic acid

(+) - Malic acid

Penicillium glaucum

Penicillium notatum

Bacillus subtilis

Pseudomonas aeroginosa

172. Which of the following bacteria decomposes

( + ) - tartaric acid from its racemic mixture ?

(A)

(B)

(c)

(D)

173. Walden inversion is similar with the
mechanism of

(A) SN1

(B) SNi

(C) S*Ar

(D) SN2



174. Glsn@6suur-@oiror Epo&*'g&g E

.r,rpE.lo Z qgfluS@uen6n dcgp$0s

H:C... CI H

C:CC:C
H

HsCe C:C COOH

H

(A) 28,48,62

(B) 22,42,68

(c) 22,48,62

(D) 2E,42,68

175. r9l einar.r 6 Lb ol +6r..1 6D r-D u r-.15oren 6l u ng$p
oual1, r9leinauqgol6r6lEg6ir o5l +itl ?

Me

OH HO
HH

HH
OHH

OH
OH

(A) I & II goflagpgtb a:eba;eno

Glsn6trl-6o6u, III arr uu.t noiu rqrf)

Gu:nLori ofgLb III gg rfGen Geio6

(B) I & II 6lafl+gfErb olebararo

etppaneu, III or r--u: noiu rs rfl G u: n to ri

@ebamr LoflgLb III gg u6Ger Gsio6

(C) I & II gaflapf g6 oreleueoo

etppooar.r, III 6fr L-u: noiu rs rflG u: n o t
osgtb III gg u6Ge n Gertotb @elalo

(D) el aoor$gr Lb gafl*pOgb eueucr:ao o
6lsn6ru, r6iD6r.

H

MeMe

H

Iio
Me

tIt
Me

II
Me

I
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(D) All are optically active

174. Asssign E & Z notations for the given

compound.

H:C CI H

C=C C=C
H

HsCo

H

(A) 2F,,4E,62

(B) 22,42,68

(c) 22,4E, 62

(D) 2F.,42,68

175. Which of the following is true about the

following three structures ?

COOH

OH HO
HH

HH
OHH

OH
OH

Me

II

(A) I and II are optically active, III is

diastereomer and III a meso

compound.

(B) I and II are optically inactive, III is not

diastereomer and III is a meso

compound.

(C) I and II are optically inactive, III is a

diastereomer and III is not a meso

compound.

C=C
H

H
HO

MeMeN,le

Me

I

Me

III



176. era-r nciu G L- nGl o risen en 6l u ng $por ar r1,

polpnor eunii61ud er5J ?

(A) 6*,O-p e-[gtttr.-L6b (eu ebsoror
u..rndeeir) goar6 $lf uurt Lon$rflu.rnen

6lunqgenns tonfp glrqqrb

(B) $tanor r-8rflu uainqsaoen e-6or-rlrgl

(C) Gl+u.rfors $lTuuri
lpnrJanonlqril

6pecs

177. edoGur3arpp ar9loraru9leb eeiSqitl&
el rfleu$$lein urilg ereinan ?

(A) o nf L9ein $ on r-p eno.r Glunlgoror
e-1geu ntse

(B) algeeuri Clunlgorsn e-lgarnBe

(c) snfGuanu:nein
6lu nqgaoen e19eu nde

@anL-peoeu

(D) ereud u T nein

urmar ntis
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(D) To generate Electrophile

P.T.O.

176. Choose the wrong statement pertaining to

elastomers.

(A) Elastomers are polymers which on
l'ulcanization convert into rubber like
products.

(B) They have elastic properties.

(C) Synthetic rubbers are elastomers

(D) They are used in the manufacture of
polystyrene foams.

177. Whar is the role of sulfuric acid in
sulphonation reaction ?

(A) To generate carbene intermediate

(B) To generate Nucleophile

(C) To generate carbanion intermediate

(D) @eno una5leiuorrL-rfein ganq pu nlFlhe

u u--rein u (A Cl msr



17E, Gl u eindafl ein anp r-G 7 n qf gr o9l oraru9l eir

uueinu@r-b eoprGTn q$gr e oarreu

(A) alrrt HNO, LofEb etuft HrSO,

(B) eruft HrSo, opg6 etrft HCI

(C) qors HNo, Lo$96 $n$p HrSOn

(D) erL-ri HCI oSgLb etui HNO,

179. ariGqnorau e1L-ri eoprlflB er rfleu$5l r--ein

gri;on9gGotgprb Gl*u.lqLb Glunqggt

dloortis *'rqu efl or ar e6l an en Cl u n lg eir

cranan ?

(A) unrirfLi gr-6la-lLb

(B) et6rq&.gr6lotb

(C) e&6r$16,fl6 err-61o6

(D) g6eneSl6 .su6lob

180. ariGrJnoiu II /H* 7

(A) 2 qgg&Gonoiu erog

(B) qgtgg6Gs noiu + sno6Guneiu

(C) qgqg&Ge naiu + u[tGLr6iu

(D) 2 u76GL-neiu ereulg
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178. The nitration mixture in nitration reaction of
Benzene is

(A) Conc. HNO3 and Conc. HrSOn

(B) Conc. H2SO. and Conc. HCI

(C) Fuming HNOI and dil H2SO,

(D) Conc. HCI and Conc. HNO,

779. tNhat is the product obtained when sucrose

is oxidized by conc. HNO3 ?

(A) Formic Acid

(B) Acetic Acid

(C) Succinic Acid

(D) Oxalic Acid

o/ H*II180, Sucrose 2

(A) 2 Glucose Units

(B) Glucose + Galactose

(C) Glucose * Fructose

(D) 2 Fructose Units
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provided in the Ouestion Booklet as well as in the OMR Answer Sheet.
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With each question, you willfind lourpossible answ€rs, marked bythe letters A, B, C and D. Read each question

carefully, and find ouiwhich answer, according to you is conect. lndicate your answer by darkening the appropriate

circle completely in fhe OMR Answer Sheet Lorresponding to lhe question. For marking answer, use Black Ball

Point pen only.
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OMR Answe; She;t iJdesigned for computer evaluation. lf you do not follow instructions given above and shown

in lhe OMB Answer Sheet, evaluation by computer will become ditficult. Any resultant loss to the candidate on the

above account, shall be of the candidate only.
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No candidate should leave the examination hall before the final bell. The OMR Answer Sheet should be handed

over to the Room lnvigilator belore leaving the examinalion hall. Tho candidate is allowed to lake the Ouestion

Booklet with him/her.

GAT 2023 / A 56


